National Testing Agency

Question Paper Name:
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

74 Women Studies 19th DEC 2023 Shift 2
74 Women Studies

2023-12-19 21:22:06

180

300

Yes

Women Studies and General Paper

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId :

Section Number:

1
878270496
0

180

No

No

300
No
Cant View

No

General Paper

878270950

1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782701743
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827041671 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of employees working in five different colleges A-E, alongwith
the ratio of Males to Females [M : F] among them. Based on the data in the table, answer the
questions that follow.

College-wise Details of Employees

College | Number of Employees| Ratio
M:F

A 3040 13:6

B 3360 4:3

C 2920 9:11

D 2760 10:13

E 2840 137

Sub questions

Question Number : 1 Question Id : 87827041672 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

What is the total number of male employees taking all the Colleges together ?

(1) 8120
(2) 8240
(3) 8360
(4) 8560
Options :

878270163641. 1
878270163642. 2
878270163643. 3

878270163644. 4

Question Number : 2 Question Id : 87827041673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the average number of female employees taking all the colleges together ?

(1) 1312
2) 1372
(3) 1336
(4) 1292
Options :

878270163645. 1
878270163646. 2
878270163647. 3

878270163648. 4

Question Number : 3 Question Id : 87827041674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The number of male employees wotking in Colleges A and C together is approximately %
more than the number of female employees working in colleges B and D together.

(1) 9

(2) 15

(3) 11

4) 13

Options :
878270163649. 1
878270163650. 2
878270163651. 3

878270163652. 4

Question Number : 4 Question Id : 87827041675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of female employees working in College D to that in College E ?

(1) 7:4
(2) 780 : 497
(3) 390 : 491
(4) 9:5
Options :

878270163653. 1
878270163654. 2
878270163655. 3

878270163656. 4

Question Number : 5 Question Id : 87827041676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The number of employees working in College C is approximately % more than that in

College D.
() 8

(2) 6
3 4
(4 10
Options:

878270163657. 1
878270163658. 2
878270163659. 3
878270163660. 4

Question Id : 87827041671 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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A 3040 13:6
B 3360 1:3
C 2920 0:11
D 2760 10:13
P 2840 13:7

Sub questions

Question Number : 1 Question Id : 87827041672 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 8120
(2) 8240
(3) 8360
(4) 8560

Options :

878270163641. 1
878270163642. 2
878270163643. 3
878270163644. 4

Question Number : 2 Question Id : 87827041673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 1312
(2) 1372
(3) 1336
(4) 1292

Options:

878270163645. 1
878270163646. 2
878270163647. 3

878270163648. 4

Question Number : 3 Question Id : 87827041674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270163649. 1
878270163650. 2
878270163651. 3

878270163652. 4

Question Number : 4 Question Id : 87827041675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1) 7:4

(2) 780 : 497
(3) 390 : 491
4 9:5
Options :

878270163653. 1
878270163654. 2
878270163655. 3
878270163656. 4

Question Number : 5 Question Id : 87827041676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270163657. 1
878270163658. 2
878270163659. 3

878270163660. 4
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Question Number : 6 Question Id : 87827041677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An economics teacher wants to create an infographics to explajn supply and demand to her students.
Which of the fo]lowing tools would be most suitable ?

(I) Edpuzzle

(2) Canva

(3) Quizlet

(4) Mindmeister
Options :
878270163661. 1
878270163662. 2
878270163663. 3

878270163664. 4



Question Number : 6 Question Id : 87827041677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270163661. 1
878270163662. 2
878270163663. 3

878270163664. 4

Question Number : 7 Question Id : 87827041678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Norm referencing is used to interpret a score of an individual by comparing it
with those of other individuals.

Statement I :  Criterion referencing is used to interpret a person’s performance by comparing it
to some specified behavioural domain.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(

4) Statement I is incorrect but Statement II is correct

Options :



878270163665. 1
878270163666. 2
878270163667. 3

878270163668. 4

Question Number : 7 Question Id : 87827041678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163665. 1

878270163666. 2

878270163667. 3

878270163668. 4

Question Number : 8 Question Id : 87827041679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the elements of observational learning ?
(A) Production

(B) Attention

(C) Identification

(D) Retention

(E) Motivation

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2) (A)and (E) Only

(3) (A), (B), (D) and (E) Only
(4) (C) Only

Options :

878270163669. 1
878270163670. 2
878270163671. 3
878270163672. 4

Question Number : 8 Question Id : 87827041679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163669. 1
878270163670. 2
878270163671. 3

878270163672. 4

Question Number : 9 Question Id : 87827041680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In "VARK' model of learni_ng st}fles, ‘A" stands for

(I) Auspicious
(2) Augmentary
(3) Authentic
(4) Aural
Options :

878270163673. 1
878270163674. 2

878270163675. 3



878270163676. 4

Question Number : 9 Question Id : 87827041680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163673. 1
878270163674. 2
878270163675. 3

878270163676. 4

Question Number : 10 Question Id : 87827041681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When a very bright light is incident on our eyes, we immediately close our eyelids.
This is an example of

(1)  Biological instincts

¥

(2)  Reflex actions
(3) Desired instincts
(4)

Intrapersonal instincts
Options :

878270163677. 1
878270163678. 2

878270163679. 3



878270163680. 4

Question Number : 10 Question Id : 87827041681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270163677. 1
878270163678. 2
878270163679. 3

878270163680. 4

Question Number : 11 Question Id : 87827041682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

[dentify the disadvantages of open ended questions in survey research.
(A) The questions do not suggest certain kinds of answer to respondents.
(B) They are time consuming for interviewers to administer.

(C) They require greater effort from respondents.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (4), (B) and (C)

Options :



878270163681. 1
878270163682. 2
878270163683. 3

878270163684. 4

Question Number : 11 Question Id : 87827041682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163681. 1
878270163682. 2
878270163683. 3

878270163684. 4

Question Number : 12 Question Id : 87827041683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In a reference written in APA style, arrange the information pertaining to the reference in correct
order.

(A) DOI number

(B) Volume number

(C) Name of author

(D) Title of the article

Choose the correct answer from the options given below :
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Options:

878270163685. 1
878270163686. 2
878270163687. 3

878270163688. 4

Question Number : 12 Question Id : 87827041683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270163685. 1
878270163686. 2
878270163687. 3

878270163688. 4

Question Number : 13 Question Id : 87827041684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A research study is said to have heuristic value if :
(1) It leads to no further research

(2) It generates more research
(3) Its results lack consistency
(4)  Its results lack validity

Options :

878270163689. 1
878270163690. 2
878270163691. 3

878270163692. 4

Question Number : 13 Question Id : 87827041684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270163690. 2
878270163691. 3

878270163692. 4

Question Number : 14 Question Id : 87827041685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An entrance examination with objective type questions is conducted. For each correct answer, 1
mark is awarded and for each incorrect answer .25 marks are deducted. The number of marks
scored by candidates who appeared in the examination, is an example of :

(1) nominal variable

(2)  discrete variable

(3) ordinal variable

(4)  continuous variable

Options :

878270163693. 1

878270163694. 2

878270163695. 3

878270163696. 4

Question Number : 14 Question Id : 87827041685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270163693. 1
878270163694. 2
878270163695. 3
878270163696. 4

Question Number : 15 Question Id : 87827041686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ;  Medical research usua]ly involves pain or distress in animals.

Statement I1:  Psychological research is usually benign and may mvolve little, if any, discomfort
for the animals.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270163697. 1

878270163698. 2

878270163699. 3

878270163700. 4

Question Number : 15 Question Id : 87827041686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163697. 1

878270163698. 2

878270163699. 3

878270163700. 4

Question Number : 16 Question Id : 87827041687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A photograph constitutes a/an :

(1

) Protective text
(2) Refined text
(3) Closed text
(4) Open text
Options :
878270163701. 1
878270163702. 2
878270163703. 3

878270163704. 4

Question Number : 16 Question Id : 87827041687 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163701. 1
878270163702. 2
878270163703. 3

878270163704. 4

Question Number : 17 Question Id : 87827041688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Buddhist concept of communication is marked by :
(1) Mono-causality

(2) Dyadic causality

(3) Multi-causality

(4) Skewed causality

Options:

878270163705. 1

878270163706. 2

878270163707. 3

878270163708. 4

Question Number : 17 Question Id : 87827041688 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270163705. 1
878270163706. 2
878270163707. 3

878270163708. 4

Question Number : 18 Question Id : 87827041689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

At present, cyber communication is a :
(1) Fictitious reality

(2) Palpable reality

(3) Futuristic reality

(4) Conventional reality
Options :

878270163709. 1
878270163710. 2
878270163711. 3

878270163712. 4

Question Number : 18 Question Id : 87827041689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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878270163709. 1
878270163710. 2
878270163711. 3

878270163712. 4

Question Number : 19 Question Id : 87827041690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main objectives of public policy sphere communication is to involve citizens in :
(A) Idea generation

(B) Policy critique

(C) Innovative policy practices

(D) Ignoring oppositional views

(E)  Promotion of stereotypes

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4)  (A), (D) and (E) Only

Options :

878270163713. 1
878270163714. 2
878270163715. 3

878270163716. 4



Question Number : 19 Question Id : 87827041690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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878270163713. 1
878270163714. 2
878270163715. 3
878270163716. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  Western communication models examined the relaﬁonship among communicative
elements on an individual basis.

Statement Il ;  The Buddhst concept of communication emphasises the contextualisation of each
of the communicative elements.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement L is false but Statement Il is true
Options:

878270163717. 1

878270163718. 2

878270163719. 3

878270163720. 4

Question Number : 20 Question Id : 87827041691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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F]: YO SR WEE § SR YR TGS d@l % 6 i & g & |
WL : TR H g IR H Yo WA 7 & Fefie w aw fom @ g

IR e & S W, T4 U T foeredl H § W S o I

1) HORIAR W T

D) AR R 1 3 o £

) @R 1§ ¢, Ol e 1 o €

4) A1 &, Vi RO T &

L]

(
(
(
(
Options :

878270163717. 1

878270163718. 2



878270163719. 3

878270163720. 4

Question Number : 21 Question Id : 87827041692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A man, a woman and a boy can do a piece of work in 6, 9 and 18 days, respectively. How many
boys should assist one man and one woman to do the work in one day ?

(1) 13
2 1
3 11
() 10
Options :

878270163721. 1
878270163722. 2
878270163723. 3

878270163724. 4

Question Number : 21 Question Id : 87827041692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

T %0, T Hfeell N T acrd: foret o 1 90 6, 9 S 16 fed B 0 9 & | T Wfeen 3% @
6 1 7 ) G et ol ot o foru, Foil airehl o1 Smaen o Sfiaveeeel 2 7

(1) 13
(2) 15
3) 1
4) 10
Options :

878270163721. 1

878270163722. 2



878270163723. 3

878270163724. 4

Question Number : 22 Question Id : 87827041693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A family consists of 6 members namely A, B, C, D, Eand F. B is the brother-in-law of C's mother.
Cis the father of F. Dis the father of Xandf is the grandson of D. There are two female members
in the family. Which of the following pairs represent the female members in the family ?

Aand D

Options :

878270163725. 1
878270163726. 2
878270163727.3

878270163728. 4

Question Number : 22 Question Id : 87827041693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A,B,C,D,E #IF 719% 98 9@ W WeR § &1 B,CH AT AL el CFafmel D, A
TARE, DF A &1 ofEm § < wfee €| Freifefen # 4 91 91 9w ofEn § afeen wew 9 i
g’

() AZRD
() DHRE
(3) A3RE
(4) BERC

Options :



878270163725. 1
878270163726. 2
878270163727.3

878270163728. 4

Question Number : 23 Question Id : 87827041694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
15,5108 18,275,489, %, .

(1) 48.5
(2} 2258
(3) 625
(4) 725
Options :

878270163729. 1
878270163730. 2
878270163731. 3

878270163732. 4

Question Number : 23 Question Id : 87827041694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T T T Ffe S A & gEen § wwaras: fag i ufrenf 9w gee
15,5, 105, 18, 275,39, 2. .,

(1) 485
(2) 525
(3) 625
4) 725



878270163729. 1
878270163730. 2
878270163731.3

878270163732. 4

Question Number : 24 Question Id : 87827041695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child is looking for his father. He goes 100 meter towards east and then turns to his right and
goes 30 meters. From there the child again turns to his right and goes for 40 meters. Where he
finds his father at his uncle’s place. How far is his uncle’s place from the starting point of the
child ?

(1) 3045 meter
(2) 40 meter

(3) 4045 meter
(4) 30410 meter
Options :
878270163733. 1
878270163734. 2
878270163735. 3

878270163736. 4

Question Number : 24 Question Id : 87827041695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e ] 319 iR A 4% T €1 9 T A SR 100 R S € S R e aife g o € e 30 e
W8 | T T A St T & e 40 F S €, W) o oA ST o R R A o o o
¢ T % o s 3 39 9 A R R @ e

(1) 305 e

(2) 40"

B) 405 T

C T

Options:

878270163733. 1
878270163734. 2
878270163735. 3
878270163736. 4

Question Number : 25 Question Id : 87827041696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :

(a) 1000 ie. 10° is coded as 1331

(b) 125i.e.5%is coded as 216

How 729 will be coded in that language ?

(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270163737. 1
878270163738. 2
878270163739. 3
878270163740. 4



Question Number : 25 Question Id : 87827041696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
gfe fordl e W o :
(a) 1000 21T 10° &1 1331 % ®9 H FHfeq fomam 701 ©
(b) 125 1eifd 5° F1 216 F &9 H Ffeq foFan 7 €

dl 39 9T H 729 k1 Y Hied fopan smam ?
(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270163737. 1
878270163738. 2
878270163739. 3

878270163740. 4

Question Number : 26 Question Id : 87827041697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are contradictory to each other ?
(A) All plants are fungi

(B) No plants are fungi

(C) Some plants are not fungi

(D) Some plants are fungi

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A)and (B) Only
(3) (C) and (D) Only
(4) (A) and (D) Only

Options :



878270163741. 1
878270163742. 2
878270163743. 3

878270163744. 4

Question Number : 26 Question Id : 87827041697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frfafea o #9-9 %97 TF TH S AT © 2
(A) T WY FF T |
(B) HIZ UreN FHeleh e o
(C) Fo W Tk el ¢
(D) F® Y FIF ¢ |
= fou 7o fowedi § 9 W& SO 1 999 Hife
(1) = (B) 3R (D)

(2) FaA (A) AR (B)
(3) A (C) X (D)
(4) FaA (A) 3R (D)

Options :

878270163741. 1
878270163742. 2
878270163743. 3

878270163744. 4

Question Number : 27 Question Id : 87827041698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[f the statement - “All trucks are po]lul‘ing vehicles” is given as false, then which of the follnwing
statements can be immediately inferred to be true ?

(I) Some trucks are polluting vehicles.

(2) Some trucks are not polluting vehicles.
(3)  No trucks are polluting vehicles.
(.

=y

) No polluting vehicles are trucks.

Options:

878270163745. 1
878270163746. 2
878270163747.3
878270163748. 4

Question Number : 27 Question Id : 87827041698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

o Fem - 9 7% TeuE A €1 e fem e € @ Pt F € dR-A A Y R W
T 1 Wl & 7

(1) %9 7 I e

Q) T3 7% T e T ¢
(3) ot 7 T A I ¢
(4) o U e 2% ) ¢
Options :
878270163745. 1
878270163746. 2
878270163747. 3

878270163748. 4

Question Number : 28 Question Id : 87827041699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent to the statement - “Some philosophers are not
idealists.”?

(I) Some philosophers are not non-idealists.

(2)  No idealists are philosophers.

(3)  Some non-idealists are not philosophers.

(4)  Some non-idealists are not non-philosophers.
Options :

878270163749. 1

878270163750. 2

878270163751. 3

878270163752. 4

Question Number : 28 Question Id : 87827041699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfafea # @1 wua-' o gnifr goger =& €', % 9nqe 87
(1) T SRIHF T-JagamK] T8 © |

) oIS FoIFers e e 8 |

) FS IR-YIFER! aUh 7ol © |

) FO TR-YFerR! IR-gmifE Tl ¢ |

Options :

878270163749. 1

878270163750. 2

878270163751. 3

878270163752. 4

Question Number : 29 Question Id : 87827041700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which fallacy is involved in the following statement “Indian pharmaceutical companies are
p‘ro[itabl& therefore, average Indian pharmaceutical company is pmfitable"?

(I) Fallacy of Division

2

Hasty Generalisation

2
(3)  Slippery Slope
()

4)  Fallacy of Accident

Options :

878270163753. 1
878270163754. 2
878270163755. 3

878270163756. 4

Question Number : 29 Question Id : 87827041700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

vt e & SF- 7 W Tl ¢ - (R s et aven § g o R

T O R

(1) fourem = 7 g
(2) et JHE
(3)  ToHerR Ze

4
Options :
878270163753. 1
878270163754. 2
878270163755. 3

878270163756. 4

Question Number : 30 Question Id : 87827041701 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The Aristotelian syllogism is only inductive and formal.
Statement 11 : N}f:iya sy]logism is deductive - inductive and formal-material.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement 1 is true but Statement II is false
(4)  Statement I is false but Statement II is true
Options :

878270163757. 1

878270163758. 2

878270163759. 3

878270163760. 4

Question Number : 30 Question Id : 87827041701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁ%awfww%:

FAT]: AT F AHAH FId AT AR STHE 2l ¢ |

FOTI: 0 F THAH S - SFHAHS S ST Terefa 2 €
SR HYA & el H, e U T forredl § § R T T FIfC

(1) oA 1R w13 7 &

(2) WU 1 2R w1 S 3 §
(3) HUTITA T, ol T U1 594 @
(4) HUTIHEA T, Al FIAT I TA €
Options :

878270163757. 1



878270163758. 2
878270163759. 3

878270163760. 4

Question Number : 31 Question Id : 87827041702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An advantage to a business that uses Intranet capabilities is that it allows employees to share the
business's information with

(1) Customers.

2

(3)  Competitors
g

Each other.

Former employees,

Options :

878270163761. 1
878270163762. 2
878270163763. 3

878270163764. 4

Question Number : 31 Question Id : 87827041702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

5GP W F1 I ¢, T AT H} AN T ¢ 5 T wAAE A e A g
i o T4 W e 1 Tt e 7 ¢ -

(1) T & 9
) TE-THE M
%) et %
4) T FHAE & Y

Options:

(
(
(



878270163761. 1
878270163762. 2
878270163763. 3

878270163764. 4

Question Number : 32 Question Id : 87827041703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following MS-EXCEL screenshot that shows the product code, name of the state
which produced the product and Quality of the product :

A B C D

1 |ProductCode| State |Quality

2 Al HP A

3 A2 MP A

4 A3 UP A

5 Ad UpP B

b A5 upP B

7

Which of the following EXCEL formulae can be typed in Cell D1 to answer the question : How
many different product codes form UP are of Grade “A” quality ?

A, = COUNTIFS (B2:Be, “=UP", C2:C6,"=A")

B. = COUNTIFS (C2:Co, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP”, C2:C6, “A")

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

(4) (A) (B) and (C)

Options :
878270163765. 1

878270163766. 2



878270163767. 3
878270163768. 4

Question Number : 32 Question Id : 87827041703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

reifeifin Tom e e T R i o S Fe, e T 9 09 9 AW 6 3R
ﬁ‘]ﬂﬂﬂlﬂﬁf?ﬁﬁ%:

A B | C | D
1 | 3R*E | ™ | T

) Al HP | A

3 A2 MP | A

4 A3 WP [ A

5 Ad UP | B

b A UP | B

7

UP e o= 3601 1 “A” I T alel € 7 36 W 91 I <1 it ¥t D1 ¥ i ¥ 9
B 1 TRIE 93 259 f o e 8

A. = COUNTIFS (B2B6, "=UP", C2C6,"=A")

B. = COUNTIFS (C2:C6, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP", C2:C6, “A")

A fou T fosredl @ B Wl SR 1 T Fi

(1) % (A) 3T (B)
Q) @ (A) 3 (C)
() A (B) % (C)
(@) () @) (C)
Options :
878270163765. 1
878270163766. 2

878270163767. 3



878270163768. 4

Question Number : 33 Question Id : 87827041704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  'Disk defragmentation’ makes files that are contiguous in a disk as fragmented.

Statement I1: A device controller that controls a device will deal with the operating system
through device driver.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are true

2)  Both Statement I and Statement I are false

3

4) Statement | is false but Statement Il is true

(
(3) Statement I is true but Statement II is false
(

Options :

878270163769. 1

878270163770. 2

878270163771. 3

878270163772.4

Question Number : 33 Question Id : 87827041704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%ﬂﬁﬁfﬂw%:

T ‘o femem folt fom  wam weel @) foifen & 2

FOT I g o, i ferel 4fe o e o feamew e g aAfoRfe freew 1 3
|

SR Ho % e §, T fou T fomredt # 9 W S T i

(1) R 13 e 11 3F 9 &

(2) YR 1 3R e 11 3 o §

() R 1T ¢, ©ife e 11 79

(4) U1 3 &, A FOF T §

Options:

878270163769. 1

878270163770. 2

878270163771.3

878270163772. 4

Question Number : 34 Question Id : 87827041705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding Artificial Intelligence (AI) is/are correct ?

(A) Al systems can be used in email spam filters,

(B) Al systems are capable of analyzing uncertain information.

(C) An Al system is a system for capturing, storing, processing and displaying data related to
positions on earth’s surface.

Choose the correct answer from the options given below :

() (4)Only

(2) (A)and (B) Only

(3) (A) and (C) Only

(4) (B) and (C) Only

Options :

878270163773. 1



878270163774. 2
878270163775. 3

878270163776. 4

Question Number : 34 Question Id : 87827041705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fm g (Al) F Feol # Feforfen § @ B9 WA T 9@ 2R

(A) TaE (AL) T 1 YA Sl A et o feren <1 ek

(B) T (Al) Wgfe e e & forvermm o o ol €

(C) e (Al) Wf Yl %t o T feafedl & waftm 21 & T, HRw, TR T wev i ugf

8l
7 feu o foered # 9 WE SO o T
(1) ¥ (A
(2) A (A) 4 (B)
() A (A) 9 (Q
(@) I (B) 3 (C)
Options :

878270163773. 1
878270163774. 2
878270163775. 3

878270163776. 4

Question Number : 35 Question Id : 87827041706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following features are available in word processing software such as MS-WORD ?
(A) Spell checker and Thesaurus

(B) Page Orientation

(C) Mail Merge

(D) Slide Transitions

Choose the correct answer from the options given below :

(1) (A), (B)and (D) Only

(2) (A)and (C)Only
(3) (B) and (C) Only
(4) (A), (B) and (C) Only

Options:

878270163777. 1
878270163778. 2
878270163779. 3
878270163780. 4

Question Number : 35 Question Id : 87827041706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty 9 S 9 MR greem # frefafad § 8 @ afiwem syeey €7
(A) Tl <Rt SR I

(B) TS SN

(C) Wl WSl

(D) WIES

A feu T fomred @ | W ST 1 I HINC ;

(1) @ (A), (B) 3 (D)

Options :



878270163777. 1
878270163778. 2
878270163779. 3

878270163780. 4

Question Number : 36 Question Id : 87827041707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not caused by polluted water ?
(1) Cholera
(2) Dysentery
(3) Typhoid
)

(4) Tuberculosis

Options :

878270163781. 1
878270163782. 2
878270163783. 3

878270163784. 4

Question Number : 36 Question Id : 87827041707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ffafad § wE-9t S gfod S % R0 2 el © 2

(1) &0

(2) sfeaR/afE

(3) TAREIS

(4) aufcer
Options :

878270163781. 1



878270163782. 2
878270163783. 3

878270163784. 4

Question Number : 37 Question Id : 87827041708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I Toxic chemicals often injure human organs and organ systems.
Statement I1:  Toxicants that damage kidneys are called as Hepatotoxic.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270163785. 1

878270163786. 2

878270163787. 3

878270163788. 4

Question Number : 37 Question Id : 87827041708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%@imﬁf{w%:

FUT]:  Tawed TR T e o ST WMa S 9 W e vgeEn €
FUT: 9 g0 91 T i THIH TE9N €, 3% eURIRIGEE Fel S ¢ |
I FYH o A H, = I T foskedi § 9 W& I T4H HifoC
(1) Y1 AR HIT 1 SH el &

() AT R HAT I SH T ©
(3) Y I 9E B, lfehd SR 11 TTeTd ©
(4) YT 1A T, AfFT RO T €
Options:

878270163785. 1

878270163786. 2

878270163787. 3

878270163788. 4

Question Number : 38 Question Id : 87827041709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing are related to ‘source reduction’ in inhegrated solid waste management ?

A)  Reduced Toxicity
B) Composting

) Landhll
E) More durable products

(

(

(C) Less Packaging
(D

(

Choose the correct answer from the options given below :
(1) (4) (8)and (C) Only
(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
® (), (D)and (E) Only

Options :

878270163789. 1



878270163790. 2
878270163791. 3

878270163792. 4

Question Number : 38 Question Id : 87827041709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

quferd 3 s yeve ¥, freferea § -9 8 e s’ | grafid §2

(A) T9=Tae femmaR
(B) ZHURE FAMI

(C) THfS W FT
(D) el

E) e femrs 3R
e feu e fosred @ U@ IR #1999 Fife
() e (A), (B) R ()
(2) o (A), (O 3R (E)
(3) e (B), (C) ¥ (D)
(4) % (C), (D) &R (E)
Options :

878270163789. 1
878270163790. 2
878270163791. 3
878270163792. 4

Question Number : 39 Question Id : 87827041710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Depletion of stratospheric ozone results into

(A) Increase in the ultraviolet radiation

(B) Increase in infra-red radiation

(C) Increase in skin cancer

(D) Significant impact on terrestrial flora and fauna
(E) Decrease in cataract cases

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), (C) and (D) Only

3) (B), (©), (D) and (E) Only

(4) (A), (B) and (C) Only

Options:
878270163793. 1
878270163794. 2

878270163795. 3
878270163796. 4

Question Number : 39 Question Id : 87827041710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Hee g SSTH o Ffaaemtor (&) =1 999 81 ©
(A) e farferwor # gfg

(B) 3TeEd fafetu # dfg

(C) = FmH gfg

(D) Treira seafadi 31 Sia sigefi W Ayl guE
(E) wifaanfeg o el § Hl

A1 few T fomredi # § W& IO H =TI I ;
(1) 9 (A), (B), (C) 3R (D)

(2) F=d (A), (O) ¥R (D)

(3) %4 (B), (O), (D) 3R (E)

(4) %9 (A), (B) 3 (C)

Options :

878270163793. 1
878270163794. 2
878270163795. 3
878270163796. 4

Question Number : 40 Question Id : 87827041711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nitrous Oxide (N,O).

(A) causes acid rain

(B) islaughing gas

(C) 1is carcinogenic

(D) is a green house gas

(E) is a criterion air pollutant
Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

() (O, (D) and (E) Only

(3) (B) and (D) Only

(4) (A) and (E) Only

Options:
878270163797. 1
878270163798. 2

878270163799. 3
878270163800. 4

Question Number : 40 Question Id : 87827041711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



egH ARTES (NyO)

(A) =Tg IO 1 FEF T |

(B) feiT i (ZHH Ael 1) ¥

(C) FHEHF (FRFEASIAR) T

(D) WrE=g e

(E) T Hah agugua & |

A= feu 7o fasredi § € 9 39 &1 994 S
(1) = (A), (D) 3R (E)

(2) 9 (C), (D) ¥R (E)
(3) A (B) &R (D)
(4) A (A) 3R (E)
Options :

878270163797. 1
878270163798. 2
878270163799. 3
878270163800. 4

Question Number : 41 Question Id : 87827041712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Michael Sadler commission was constituted to study the problems of :
(1) Bombay University

(2) Madras University
(3) Poona University
(4) Calcutta University

Options :

878270163801. 1
878270163802. 2
878270163803. 3
878270163804. 4



Question Number : 41 Question Id : 87827041712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WEehel TEeR AR 1 T forqent guenat 1 7o 0 & fau farm mn a2

(1) il favafaeme
(2) e fovefaemed
(3) T fevefararea
(4) Serr fagafeaaed
Options :

878270163801. 1
878270163802. 2
878270163803. 3
878270163804. 4

Question Number : 42 Question Id : 87827041713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 1986 recommended the establishment of _in the country.
(I) Community colleges

(2)  Open universities

(3) National universities of eminence

(4)  Discipline-wise universities

Options:

878270163805. 1
878270163806. 2
878270163807. 3
878270163808. 4



Question Number : 42 Question Id : 87827041713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
et foner Hifa, 1986 = <1 T forgert o= T fawif &1 off ?
(1) HIHeIEes Helfa=ed

) He favafeaered

(3) U™ Scpreal favafaere™
) Taug-anr feavafasrem

Options :

878270163805. 1

878270163806. 2

878270163807. 3

878270163808. 4

Question Number : 43 Question Id : 87827041714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Curzon's uniuersit_\F reforms reflected the official attitude towards the spread of
higher education in [ndia.

Statement Il :  There was no resistance to the Indian universities Bill piloted by Curzon from
any section of Indians,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are true
2)  Both Statement I and Statement I are false

(
(3)  Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

8782701638009. 1



878270163810. 2
878270163811. 3

878270163812. 4

Question Number : 43 Question Id : 87827041714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163809. 1
878270163810. 2
878270163811. 3
878270163812. 4

Question Number : 44 Question Id : 87827041715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Ancient thinkers) (Area of study)
(A) Panini ()  Astronomy
(B) Jivaka (II) Grammar
(C) Bhaskara (IIT) Medicine
(D) Kanada (IV) Physics

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)~(1D), (C)-(I), (D)-(IV)

(2)  (A)-(ID, (B)-(D), (O)(I), (D)-(IV)

(3) (A1), (B)-(l1), (C)-(I), (D)-(IV)

(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Options :

878270163813. 1

878270163814. 2

878270163815. 3

878270163816. 4

Question Number : 44 Question Id : 87827041715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
Ti-1 -1

(e faemes ) ( ITT &)
(A) rforE ) Ea-fasm
(B) i@k (I) AR
(C) Wr=RY (I11) Tafshem
(D) TS (IV) Hifaerame

= feu v fasredi § § 98 I F1 =94 S
(1) (A)(I), (B)-(1D), (O)-(I), (D)-(IV)

(2)  (A)-(ID), (B)-(1), (O)-(I), (D)-(IV)
(3) (A1), (B)-(D), (©O)-{), (D)-(IV)
4) (A1, (B)-(1V), (O-(1), (D)-(I1)

Options :

878270163813. 1
878270163814. 2
878270163815. 3
878270163816. 4

Question Number : 45 Question Id : 87827041716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I

(Name of University) (Year of Establishment)
(A) Bombay University (I) 1916
(B) Delhi University (II) 1943
(C) Utkal University (Im) 1922

-,

(D) SN.D.T. Women University (IV) 1857

Choose the correct answer from the options g'wen below :

(1) (A)-(V), (B)-(IL), (C)-(ID), (D)-(I)
(2) (A1), (B)-(IV), (C)(1D), (D)-(0)
(3)  (A)-(IV), (B)-(I), (C)-(1), (D)-(IT)
(4)  (A)-(), (BI-(II), (C)-IV), (D)-(0)
Options :

878270163817. 1
878270163818. 2
878270163819. 3

878270163820. 4

Question Number : 45 Question Id : 87827041716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 G-I = e sife
ﬁ?ﬁ.l -11

( favafaemer & m) ( FRITOET oY )
(A) dirl favaforme (I) 1916
(B) feoeht favafammem (I) 1943
(C) Ichd Tavaia=med (1) 1922

(D) TH.UAELE. Hfgen fagafaemem (IV) 1857
= feu U fomredi § ¥ W& I N =999 HIfGT
(1) (A)-(IV), (B)-(IIL), (C)-(ID), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)-(1I), (D)-(D)

() (A)-(IV), (B)-(I), (O)-(T), (D)-(I)

(4) (A=), (B)-(11), (©)-(1V), (D)-(I)
Options :

878270163817. 1
878270163818. 2
878270163819. 3
878270163820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701745
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827041717 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow :

Science and the techniques to which it has given rise have changed human life during the
last hundred and fifty years more than it had been changed since men took to agriculture, and the
changes that are being wrought by science continue at an increasing speed. There is no sign of any
new stability to be attained on some scientific plateau. On the contrary, there is every reason to
think that the revolutionary possibilities of science extend immeasurably beyond what has so far
been realised. Can the human race adjust itself quickly enough to these vertiginous transformations,
or will it, as innumerable former species have done, perish from lack of adaptability? The dinosaurs
were, in their day, the lords of creation, and if there had been philosophers among them, not one
would have foreseen that the whole race might perish. But they became extinct because they
could not adapt themselves to a world without swamps. In the case of man and science there is a
wholly new factor, namely that man himself is creating the changes of environment to which he
will have to adjust himself with unprecedented rapidity. But, although man through his scientific
skill is the cause of the changes of environment, most of these changes are not willed by human
beings. Although they come about through human agencies, they have, or at any rate have had so
far, something of the inexorable inevitability of natural forces. Whether Nature dried up the swamps
or men deliberately drained them, makes little difference as regards the ultimate result. Whether
men will be able to survive the changes of environment that their own skill has brought about is an
open question. If the answer is in the affirmative, it will be known some day; if not, not. If the
answer is o be in the affirmative, men will have to apply scientific ways of thinking to themselves
and their institutions.

Sub questions

Question Number : 46 Question Id : 87827041718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dinosaurs became extinct because of :
(I) A massive earthquake
) Incessant rainfall
(3) Extreme cold
) Lack of adaptability
Options :
878270163821. 1
878270163822. 2
878270163823. 3

878270163824. 4



Question Number : 47 Question Id : 87827041719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the scientific age who is responsible for the changing environment ?

(1) Nature

(2) Man

(3) Natural Disasters
(4) Wars
Options :

878270163825. 1
878270163826. 2
878270163827. 3
878270163828. 4

Question Number : 48 Question Id : 87827041720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main focus of the passage is on :
(1) Extinchion of Species

(2) Extinction of Dinosaurs

(3) Science and Human life

(4) Destruction of Forests

Options :

878270163829. 1

878270163830. 2

878270163831. 3

878270163832. 4

Question Number : 49 Question Id : 87827041721 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i

“If the answer is in the affirmative .......... refers to the question related to :
(1) Changes in environment
(2)

(3) Human extinction

(4)

B!

Human survival

Changes in scientific approach
Options :

878270163833. 1

878270163834. 2

878270163835. 3

878270163836. 4

Question Number : 50 Question Id : 87827041722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to the passage the following are true :
A) Science is bringing about rapid changes.
B) There is every likelihood that a scientific plateau will be reached.

D) There are chances that mankind may become extinct due to lack of adaptability.

(
(
(C) Man will definitely perish like the Dinosaurs,
(
(

E) Changes in the environment made through human agencies have so far shown almost the
same inexorable inevitability as that of natural forces in the past.

Choose the correct answer from the options given below :
(I) (A), (D) and (E) Only

) (4),(8)and (E) Only

(3) (A) and (E) Only

(4) (B), (C) and (E) Only

Options :

878270163837. 1

878270163838. 2



878270163839. 3

878270163840. 4

Question Id : 87827041717 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827041718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270163821. 1
878270163822. 2
878270163823. 3

878270163824. 4

Question Number : 47 Question Id : 87827041719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7 H waterer WiadA % fau #e SweEr € 2

(1) 9Ffd

(2) AIEHETE
(3) RIS
4) 3Is&
Options :

878270163825. 1
878270163826. 2
878270163827. 3
878270163828. 4

Question Number : 48 Question Id : 87827041720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TS <1 A e g fRa R ?
(1)  wsiicri A1 fereqw iRt

(2) EEAERT 1 e
(3) Taam &R wFa SfeA
(4) = = foAma

Options:

878270163829. 1
878270163830. 2
878270163831. 3
878270163832. 4

Question Number : 49 Question Id : 87827041721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 9FieRT ¥ qftEd

(2) TS ST

(3) WM faqwiew

(4) T T H gREd
Options :

878270163833. 1
878270163834. 2
878270163835. 3
878270163836. 4

Question Number : 50 Question Id : 87827041722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163837. 1

878270163838. 2

878270163839. 3

878270163840. 4

Women Studies

Section Id : 878270951
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 8782701746
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 87827041723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In 2024 India will be celebrating Golden Jubilee of the publication of an epoch making document
in terms of history of women's studies in India. Identify the document.

(I) First National Family and Health Survey

(2) Towards Equality Report

(3) Report on the Empowerment of women

(4)  Shramashakti Report on self-employed women and women in the informal sector
Options :

878270163841. 1

878270163842. 2

878270163843. 3

878270163844. 4

Question Number : 51 Question Id : 87827041723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270163841. 1
878270163842. 2
878270163843. 3

878270163844. 4

Question Number : 52 Question Id : 87827041724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is known as the ‘National Health Programme’ for pregnant women in India ?
(1) Pradhan Mantri Surakshit Matritva Abhiyan

2) Janani Suraksha Yojana

3

(
(3) Pradhan Mantri Matritva Vandana Yojana
(4)

Sanitease
Options :
878270163845. 1
878270163846. 2
878270163847. 3

878270163848. 4

Question Number : 52 Question Id : 87827041724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) W= GREd A A9 |
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Options :

878270163845. 1



878270163846. 2
878270163847. 3

878270163848. 4

Question Number : 53 Question Id : 87827041725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dakshata is an initiative under :

(1) Mother and Child Health Mission
(2) National Health Mission

)
(3) National Rural Health Mission
(4)

Janani Suraksha Yojana

Options :

878270163849. 1
878270163850. 2
878270163851. 3
878270163852. 4

Question Number : 53 Question Id : 87827041725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163849. 1
878270163850. 2



878270163851. 3

878270163852. 4

Question Number : 54 Question Id : 87827041726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statement is true about feminist methodology ?
(1) To find solutions for female problems

(2) Validity of personal experience
(3)  Acceptance of hierarchy in research relationships
(4) Clear cut separation between research and action

Options :

878270163853. 1
878270163854. 2
878270163855. 3

878270163856. 4

Question Number : 54 Question Id : 87827041726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270163853. 1
878270163854. 2

878270163855. 3



878270163856. 4

Question Number : 55 Question Id : 87827041727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the developmental approach which argued that class structure were more oppressive
than gender and that poor, marginalized women had more in common with men of their class
than with women of another class.

(1)  Welfare Approach
(2) WAD Approach
(3) WID Approach
(4) GAD Approach
Options :
878270163857. 1
878270163858. 2
878270163859. 3

878270163860. 4

Question Number : 55 Question Id : 87827041727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163857. 1



878270163858. 2
878270163859. 3

878270163860. 4

Question Number : 56 Question Id : 87827041728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which research approach emphasizes the active involvement of research participants in all stages
of the research process from designing the study to analysis of the results and implementing
recommendations ?

(I) Participatory Action Research

(2) Positivist Research

() Participant Observation

(4) Survey Research

Options :

878270163861. 1

878270163862. 2

878270163863. 3

878270163864. 4

Question Number : 56 Question Id : 87827041728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270163861. 1
878270163862. 2
878270163863. 3

878270163864. 4

Question Number : 57 Question Id : 87827041729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who in her book Law and Gender Inequality The Politics of Women's Rights in India :
raises questions about why the economic rights and power of women are affected by the personal
laws of the various religious communities ?

(I) Sharmila Rege

(2) Mary E. John

(3) Kamala Bhasin

(4) Flavia Agnes

Options :

878270163865. 1

878270163866. 2

878270163867. 3

878270163868. 4

Question Number : 57 Question Id : 87827041729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163865. 1
878270163866. 2
878270163867. 3
878270163868. 4

Question Number : 58 Question Id : 87827041730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which country has best performed gender gap index in 2023 ?

(1) Finland

(2) Iceland

(3) Norway

(4) Denmark
Options :

878270163869. 1
878270163870. 2
878270163871. 3
878270163872. 4

Question Number : 58 Question Id : 87827041730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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(1) fre

(2) aMEETE

(3)

(4) STHTH
Options :

878270163869. 1
878270163870. 2
878270163871. 3

878270163872. 4

Question Number : 59 Question Id : 87827041731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who coined the term “missing women” ?
(1) Martha Nussbaum

(2) Amartya Sen

(3) Jean Dreze

(4) Ester Boserup
Options :
878270163873. 1
878270163874. 2
878270163875. 3

878270163876. 4

Question Number : 59 Question Id : 87827041731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163873. 1
878270163874. 2
878270163875. 3

878270163876. 4

Question Number : 60 Question Id : 87827041732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Acts of 2012 provide for a special court for children ?
(1) Juvenile Justice Act

(2) Protection of Children from Sexual Offences Act

(3)  The prohibition of Child Marriage Act

(4) The Child Labour (Prohibition and Regulation) Act

Options :

878270163877. 1

878270163878. 2

878270163879. 3

878270163880. 4

Question Number : 60 Question Id : 87827041732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270163877. 1
878270163878. 2
878270163879. 3

878270163880. 4

Question Number : 61 Question Id : 87827041733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who published the report “Less than Gay : A citizens report on status of Homosexuality India” in
1991 advocating civil rights of the LGBT's to include same sex marriages, parentings,
decriminalisation of homosexuality and repeal of [PC 377.

(I) A Human Rights Activist group AIDS Bhedbhav Andolan (ABVA)
(2) Naz Foundation India Trust

(3) Bharosa Trust

(4)  Queer Link

Options :

878270163881. 1

878270163882. 2

878270163883. 3

878270163884. 4

Question Number : 61 Question Id : 87827041733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :
878270163881. 1
878270163882. 2
878270163883. 3

878270163884. 4

Question Number : 62 Question Id : 87827041734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which section of the Indian Penal code (IPC) deals with Gang-Rape ?
(1) 376 (A)

(2) 376 (B)
(3) 376 (C)
4) 376 (D)
Options :

878270163885. 1
878270163886. 2
878270163887. 3

878270163888. 4

Question Number : 62 Question Id : 87827041734 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 376 (A)

(2) 376 (B)
(3) 376 (C)
(4) 376 (D)
Options :
878270163885. 1
878270163886. 2
878270163887. 3

878270163888. 4

Question Number : 63 Question Id : 87827041735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which 5DG particularly aims to eliminate all harmful practices such as child, early and forced
marriage and female genital mutilations by 2030 ?

3 B

2
G
)

Options :

o W
oD ~3 w2

878270163889. 1
878270163890. 2
878270163891. 3

878270163892. 4

Question Number : 63 Question Id : 87827041735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270163889. 1
878270163890. 2
878270163891. 3

878270163892. 4

Question Number : 64 Question Id : 87827041736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which Global conference the media was recognised as one of the critical fields of importance for
the equality of the sexes :

(1)  UN Global Conference on Women, Mexico City in 1975

(2) UN Global Conference on Women, Copenhagen in 1980

(3) UN Global Conference on Women, Nairobi in 1985

(4)  UN Global Conference on Women, Beijing in 1995

Options :

878270163893. 1
878270163894. 2
878270163895. 3

878270163896. 4

Question Number : 64 Question Id : 87827041736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :
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878270163893. 1
878270163894. 2
878270163895. 3

878270163896. 4

Question Number : 65 Question Id : 87827041737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name the Scheme launched on March 3, 2008 by the Ministry of Women and Child Development,
Government of India. The Scheme aimed at doing away with child marriage by offering parents
attractive insurance coverage, and encouraging parents to educate their children as well as covering
certain medical expenses for girl child :

(1) Ladli Laxmi Yojana

(2) Dhan Laxmi Scheme

(3) Streeshakti

(4)  Ladli Beti Scheme

Options :
878270163897. 1
878270163898. 2

878270163899. 3

878270163900. 4

Question Number : 65 Question Id : 87827041737 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270163897. 1
878270163898. 2
878270163899. 3

878270163900. 4

Question Number : 66 Question Id : 87827041738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following test is one of the most baseline metrics that filmmakers may consider when
making Female - Centric Cinema ?

(1)  The Gender Status Index (GSI)

(2) WE-Test

(3) The Bechdel Wallace Test

(4)  Adept Software

Options:

878270163901. 1

878270163902. 2

878270163903. 3

878270163904. 4



Question Number : 66 Question Id : 87827041738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
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878270163901. 1
878270163902. 2
878270163903. 3

878270163904. 4

Question Number : 67 Question Id : 87827041739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Sign” the feminist periodical journal was founded by :
(1) Rebecca Walker
) Angela Davis
(3) Bell hooks
) Catherine Stimpson
Options:
878270163905. 1
878270163906. 2
878270163907. 3

878270163908. 4



Question Number : 67 Question Id : 87827041739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163905. 1
878270163906. 2
878270163907. 3

878270163908. 4

Question Number : 68 Question Id : 87827041740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who studied the Gond tribal society in southern Chhattisgarh during the 1950s and said “an
encounter between an “anthropologist as a women’ vis-a-vis society, appears to be a relationship
that is determined by gender * ?

(1) Patricia Uberoi

(2) Leela Dube

(3)  Gail Omvedt

(4) Romila Thapar

Options:
878270163909. 1
878270163910. 2

878270163911. 3

878270163912. 4



Question Number : 68 Question Id : 87827041740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
8782701639009. 1
878270163910. 2
878270163911. 3

878270163912. 4

Question Number : 69 Question Id : 87827041741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the rank of India in Gender Equality Index in 2022, out of 146 countries ?

(1) 120

) 129
(3) 135
(4) 141
Options:

878270163913. 1
878270163914. 2

878270163915. 3



878270163916. 4

Question Number : 69 Question Id : 87827041741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 120
2) 129
(3) 135
(4) 141
Options :

878270163913. 1
878270163914. 2
878270163915. 3

878270163916. 4

Question Number : 70 Question Id : 87827041742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the Scheme launched by NITI AYOG to develop an ecosystem for women entrepreneurship :
()  Women Empowerment Agency

(2)  Women entrepreneurship platform

(3) Nari Shakti Ayog

g

Women Knnwledge Centre

Options :

878270163917. 1
878270163918. 2
878270163919. 3
878270163920. 4



Question Number : 70 Question Id : 87827041742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270163917. 1
878270163918. 2
878270163919. 3

878270163920. 4

Question Number : 71 Question Id : 87827041743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the significance of the first wave’ of feminism ?

(1) It focused on reproductive rights and work place equality
(2)

(3) It is primarily concerned with post colonial issues
(4)

It advocated for suffrage and legal 1'igh ts for women

It aimed to retain traditional gender roles
Options :

878270163921. 1

878270163922. 2

878270163923. 3

878270163924. 4

Question Number : 71 Question Id : 87827041743 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270163921. 1
878270163922. 2
878270163923. 3

878270163924. 4

Question Number : 72 Question Id : 87827041744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Under which Article the supreme court recognised prostitutinn in India as a profession and said
that sex workers are entitled to dignit}f and equal proleclion under the law in May 2022
(1) Article 21 of the Indian Constitution

(2) Article 53

(3) Article 279 A (1)

(4) Article 3

Options :

878270163925, 1

878270163926. 2

878270163927. 3

878270163928. 4

Question Number : 72 Question Id : 87827041744 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163925. 1
878270163926. 2
878270163927.3

878270163928. 4

Question Number : 73 Question Id : 87827041745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is the first country in Asia to legalise the same sex marriage ?

(1) Taiwan

(2) Singapore
(3) Indonesia
(4) Myanmar
Options:

878270163929. 1
878270163930. 2
878270163931. 3

878270163932. 4

Question Number : 73 Question Id : 87827041745 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270163929. 1
878270163930. 2
878270163931. 3

878270163932. 4

Question Number : 74 Question Id : 87827041746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Ester Boserup’s book The Condition of Agriculture Growth and her subsequent work argues that :
(1) Population growth is the prime cause of agricultural change

(2) Population growth will always outspace agriculture

(3)  Population growth is dependent on the food supply

(4) Population increase is not a cause of change in agriculture
Options:

878270163933. 1

878270163934. 2

878270163935. 3

878270163936. 4

Question Number : 74 Question Id : 87827041746 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270163933. 1
878270163934. 2
878270163935. 3

878270163936. 4

Question Number : 75 Question Id : 87827041747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Global gender parity Index (GGPI) is a composite index that assesses gender disparity in key
dimensions of human development that includes :

(I) Health, education, Inclusion and decision making

(2) Employment, health and education

(3)  Decision-making, employment and violence against women

(4) Health, livelihood and political participation

Options :

878270163937. 1

878270163938. 2

878270163939. 3

878270163940. 4

Question Number : 75 Question Id : 87827041747 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
S A (Se0) o (9 o) o o S & e o 5 g e
cifTef-foeen a1 fReifi o & fore] finfer 20 2
(1) e, e, g o o
(2) T, R v i
(3) e, TSR wfeene % fog e
(4) T, STSAfeeR T oo SFeRt (Sesim)
Options :
878270163937. 1
878270163938. 2
878270163939. 3
878270163940. 4

Question Number : 76 Question Id : 87827041748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who wrote Maria : or, The Wrongs of Woman.
(I) Virginia Woolf

(2) Mary Wollstonecraft

(3) Emmeline Pankhurst

(4) Simon de Beauvoir
Options :

878270163941. 1

878270163942. 2

878270163943. 3

878270163944. 4

Question Number : 76 Question Id : 87827041748 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163941. 1
878270163942. 2
878270163943. 3
878270163944. 4

Question Number : 77 Question Id : 87827041749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following argues that bodies are not beings but are the effects of performance ?
(1) Cynthia Enloe

(2) Radha Kumar

(3)  Geraldine Forbes

(4)  Judith Butler

Options :

878270163945. 1

878270163946. 2

878270163947. 3

878270163948. 4

Question Number : 77 Question Id : 87827041749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270163945. 1
878270163946. 2
878270163947. 3

878270163948. 4

Question Number : 78 Question Id : 87827041750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following contends that in order to eliminate inequalities between women and
men it is also necessary to eliminate bodily differences in reproductive functions ?

(1) Shulamith Firestone

(2) Mary Wollstonecraft

(3) Cynthia Enloe

(4) Gayatri Spivak

Options :

878270163949. 1

878270163950. 2

878270163951. 3

878270163952. 4

Question Number : 78 Question Id : 87827041750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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878270163949. 1
878270163950. 2
878270163951. 3

878270163952. 4

Question Number : 79 Question Id : 87827041751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who coined the concept of ‘Emotional Labour’ ?

(1) Rose Hackman
(2) Arlie Hochschild
(3) Jenmna Ward

(4) Gemma Hartley

Options :

878270163953. 1
878270163954. 2
878270163955. 3

878270163956. 4

Question Number : 79 Question Id : 87827041751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

FETTE AW F Hee H T R w7 o
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Options :

878270163953. 1
878270163954. 2
878270163955. 3

878270163956. 4

Question Number : 80 Question Id : 87827041752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who is a ‘Juvenile’as per the Juvenile Justice Act 2000 ?
(1) A delinquent

(2)

(3) Any child below 18 years of age
(4)

Any person above 18 years of age

Any child below 14 years of age
Options :

878270163957. 1

878270163958. 2

878270163959. 3

878270163960. 4

Question Number : 80 Question Id : 87827041752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163957. 1
878270163958. 2
878270163959. 3

878270163960. 4

Question Number : 81 Question Id : 87827041753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which Article of the constitution of India provides for equal pay for equal work for both men and
women ?

(1) Article 15 (¢)

(2) Article 16

(3)  Article 39 (a)

(4)  Article 39 (d)

Options :
878270163961. 1
878270163962. 2

878270163963. 3
878270163964. 4

Question Number : 81 Question Id : 87827041753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163961. 1
878270163962. 2
878270163963. 3
878270163964. 4

Question Number : 82 Question Id : 87827041754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who among the following studied the Arapesh, Mundugamor and Tehambuli societies in the New
Guinea Islands ?

(1)  Judith Butler

(2) Margaret Mead

(3) Mary Wollstonecraft

(4) Gloria Steinem

Options :

878270163965. 1

878270163966. 2

878270163967. 3

878270163968. 4

Question Number : 82 Question Id : 87827041754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163965. 1
878270163966. 2
878270163967. 3
878270163968. 4

Question Number : 83 Question Id : 87827041755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Under Mahila Udyam Nidhi Scheme, women entrepreneurs can avail of loans to start their own
business or small scale enterprise up to:

(1) 2 Lakhs
(2) 3 Lakhs

(3) 1Lakh

(4) 10 Lakhs
Options :
878270163969. 1
878270163970. 2
878270163971. 3

878270163972. 4

Question Number : 83 Question Id : 87827041755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
8782701639609. 1
878270163970. 2
878270163971. 3

878270163972. 4

Question Number : 84 Question Id : 87827041756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who can be an Aggrieved person under the prohibition of the Domestic Violence Act ?
(1)  Either a man or a woman

(2) Only a woman

(3) Woman and Children

(4) Only a Man

Options :

878270163973. 1

878270163974. 2

878270163975. 3

878270163976. 4

Question Number : 84 Question Id : 87827041756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163973. 1
878270163974. 2
878270163975. 3

878270163976. 4

Question Number : 85 Question Id : 87827041757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Name the online platform of the ministry of women and child development to support women
entrepreneurs ?

(1) Digital India

(2) Mahila-E - haat

(3) Mahila - E - Bazar

(4)  One stop E - Seva

Options :

878270163977. 1

878270163978. 2

878270163979. 3

878270163980. 4

Question Number : 85 Question Id : 87827041757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163977. 1
878270163978. 2
878270163979. 3
878270163980. 4

Question Number : 86 Question Id : 87827041758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which state legislation has its law to prohibit human trafficking and use of children in pornography ?
(1) Goa Children’s Act, 2003

(2) Andhra Pradesh Devadasi (Prohibition Dedication) Act, 1989
(3) Karnataka Devadasi (prohibition od Dedication) Act, 1982
(4) Immoral Traffic (Prevention) Act, 1956

Options :

878270163981. 1

878270163982. 2

878270163983. 3

878270163984. 4

Question Number : 86 Question Id : 87827041758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) Y Geu Saer (Fdw giavy) s, 1989

(3) e ol (qAY gfuy) srfifm, 1982

(4) afi Seer (femon) sfufm, 1956

Options:

878270163981. 1
878270163982. 2
878270163983. 3

878270163984. 4

Question Number : 87 Question Id : 87827041759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who app]ied the concept of symbolic annihilation and asserted that the media “annihilated” women
Lhmugh Omission, trivialisation and condemnation :

(I) Gaye Tuchman

(2) Laura Mulvey

(3)  Betty Friedan

(4)  Judith Butler

Options :

878270163985. 1

878270163986. 2

878270163987. 3

878270163988. 4

Question Number : 87 Question Id : 87827041759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270163985. 1
878270163986. 2
878270163987. 3

878270163988. 4

Question Number : 88 Question Id : 87827041760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following is a radical feminist lawyer, who lobbied for enacting anti-pornography
laws ?

(1) Dorothy Smith

(2) Donna Haraway

(3) Catherine Mackinnon

(4) Sandra Harding

Options :

878270163989. 1

878270163990. 2

878270163991. 3

878270163992. 4

Question Number : 88 Question Id : 87827041760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270163989. 1
878270163990. 2
878270163991. 3

878270163992. 4

Question Number : 89 Question Id : 87827041761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which law disallows Hindu women to adopt a child without the consent of her husband ?
(1) Hindu marriage act

(2)  Article 14, 15 and 21 of constitution

(3) Hindu Adoption and Maintenance Act 1956

(4) Central Adoption and Resource Agency (CARA) guidelines

Options :

878270163993. 1

878270163994. 2

878270163995. 3

878270163996. 4

Question Number : 89 Question Id : 87827041761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270163993. 1
878270163994. 2
878270163995. 3
878270163996. 4

Question Number : 90 Question Id : 87827041762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What was the name of the mass movement led b}; women In Manipur against the British Colonial
Authorities ?

(1) Meira Paibi
(2) Nupi Lan

(3) Lalup

(4)  Nupi Keithal
Options :
878270163997. 1
878270163998. 2
878270163999. 3

878270164000. 4

Question Number : 90 Question Id : 87827041762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270163997. 1
878270163998. 2
878270163999. 3
878270164000. 4

Question Number : 91 Question Id : 87827041763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What are new names proposed for Indian (Penal Code (IPC), Criminal Procedure Code (CRPC)

and Evidence Act.

(A) Bharatiya Naya Sanhita

(B) Bharatiya Nagarik Naya Sanhita

(C) Bharatiya Nagarik Suraksha Sanhita

(D) Bharatiya Sakshya Adhiniyam

Choose the correct answer from the options given below :

(1) (A), (8) (©) Only

() (A), (), (D) Only
() (A) ©) D) Only
(4) (8), (C), (D) Only
Options :

878270164001. 1
878270164002. 2
878270164003. 3
878270164004. 4



Question Number : 91 Question Id : 87827041763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270164001. 1
878270164002. 2
878270164003. 3

878270164004. 4

Question Number : 92 Question Id : 87827041764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What are salient characteristics of Internet based research ?
(A) Internet as Geographically dispersed

(B) Internet as Anonymous

(C) Internet as Unimodal

(D) Internet as multimodal

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (), (C), (D) Only

) (A), (©), (D) Only

(4)  (A), (B), (D) Only

Options:

878270164005. 1

878270164006. 2

878270164007. 3

878270164008. 4

Question Number : 92 Question Id : 87827041764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :



878270164005. 1
878270164006. 2
878270164007. 3

878270164008. 4

Question Number : 93 Question Id : 87827041765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the features of the cinematograph (Amendment) Bill, which was introduced in Rajya

Sabha on July 20, 2023 ?

(A) The Bill amends the Cinematograph Act of 1952

(B) The Cinematograph (Amendment) bill seeks to infroduce three age based certifications

(C) Grants certificates to films with a 10 year validity period

(D) Grants certificates to films with perceptual validity by doing away with the 10 year validity
period

Choose the correct answer from the options given below :

(1) (4), (B), (€ Only

(2 (A), (B), (D) Only
(3) (&) (©), (D) Only
(4) (B), (C), (D) Only
Options :

8782701640009. 1
878270164010. 2
878270164011. 3

878270164012. 4

Question Number : 93 Question Id : 87827041765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164009. 1
878270164010. 2
878270164011. 3

878270164012. 4

Question Number : 94 Question Id : 87827041766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In what ways the Mathura Rape Case of 1972 change the landscape of rape laws in India ?
(A) Past sexual experience of the rape survivor should be considered

(B)  The law mandates that a court presumes a survivor who says she did not consent to sexual
intercourse is telling the truth

(C) Besides defining custodial rape, the amendment shifted the burden of proof from the accuser
to the accused

(D) Italso demanded that before sunrise and after sunset women cannot be called to the police
station

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2 (), (Cl (D) Only

(3 (A), (C), (D) Only

@) (A) ( ), (D) Only

Options:

878270164013. 1

878270164014. 2

878270164015. 3

878270164016. 4

Question Number : 94 Question Id : 87827041766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164013. 1

878270164014. 2

878270164015. 3

878270164016. 4

Question Number : 95 Question Id : 87827041767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is true about Internal Complain Committee (ICC) ?

(A) Committee requires proper procedure for registering complaints

(B) Complaints must be submitted in writing or a statement should be recorded and signed

(C) The investigation is conducted within a specific time period typically three months

(D)  Ananonymous complaint can be registered without disclosing the identity of the complainant
to the committee.

Choose the correct answer from the optians given below :

(1) (4), (8) (©) Only

(@) (A) (B) (D) Only
() (8), (C), (D) Only
@ (A) (C), (D) Only

Options:

878270164017. 1
878270164018. 2
878270164019. 3
878270164020. 4

Question Number : 95 Question Id : 87827041767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164017. 1
878270164018. 2
878270164019. 3
878270164020. 4

Question Number : 96 Question Id : 87827041768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Masculinity studies :

(A) Assumes that the study of masculinity is the same as the study of men

(B) Assumes that masculinity is a construct

(C) Believes that studying the discourse of masculinity will have to undertake the study of the
gender in an intersectional perspective,

(D) Is the study of power innherent in men.

Choose the correct answer from the options given below :

(1) (4), (B) Only

(2) (A), (C) Only
() (8), (D) Only
(4 (8), (C) Only
Options:

878270164021. 1
878270164022. 2
878270164023. 3

878270164024. 4

Question Number : 96 Question Id : 87827041768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164021. 1
878270164022. 2

878270164023. 3

878270164024. 4

Question Number : 97 Question Id : 87827041769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The fear that mass media messages could outweigh other stabilizing cultural influences, such as
family and community, led to what is known as the direct effects model of media studies. This
model is referred as :

(A) Magic Bullet Theory

(B) Hypodermic needle model

(C) Spiral of silence theory

(D) Symbolic Interactionism

Choose the correct answer from the options given below :

(1) (A), (B) Only

() (4), (C) Only
() (A), (D) Only
(4)  (B), ) Only



Options :

878270164025. 1
878270164026. 2
878270164027.3

878270164028. 4

Question Number : 97 Question Id : 87827041769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164025. 1
878270164026. 2
878270164027. 3

878270164028. 4

Question Number : 98 Question Id : 87827041770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Cultural Hegemony refers to :

(A) A monolithic intellectual praxis (polities and policies)
(B) A unified system of values (ideology)

(C) A complex of social relations produced by the social stratification of the individual and social
structure

(D) The social class system and the social structure of each class
Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :
878270164029. 1
878270164030. 2
878270164031. 3

878270164032. 4

Question Number : 98 Question Id : 87827041770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164029. 1
878270164030. 2
878270164031. 3
878270164032. 4

Question Number : 99 Question Id : 87827041771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following women freedom fighters actively participated in the Quit India Movement ?

(A) Aruna Asif Ali
(B) Basanti Devi
(C) Usha Mehta
(D) Sumati Morarji

Choose the correct answer from the options given below :

(A), (B), (C) Only

-_-'-_-

(1

@ () (C) (D) Only
(3 (A), (), (D) Only
@ (A) ) (D) Only
Options :

878270164033. 1
878270164034. 2
878270164035. 3
878270164036. 4

Question Number : 99 Question Id : 87827041771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) 3TEI AHE el

(B) = <ot
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(1) =@ (A), (B) (O)
(2) %54 (B) (C), (D)
(3) = (4), (©) (D)
(4) %9 (A), (B), (D)
Options:

878270164033. 1
878270164034. 2
878270164035. 3
878270164036. 4

Question Number : 100 Question Id : 87827041772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of Indian society the Rakhmabai case of 1884 revolved around :
(A) Women's right to gain education

(B) Women's right to remarriage

(C) Age of consent

(D) Restitution of conjugal rights

Choose the correct answer from the options given below :

(1) (A), (B) Only

(2 (A), (€) Only
(3 (O (D) Only
(4) (A), (D) Only



878270164037. 1
878270164038. 2
878270164039. 3

878270164040. 4

Question Number : 100 Question Id : 87827041772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WWAg TS o G § o1 Tanars Ao fe § § fopTes 58-fie a1?
(A) Torem A s 1 a1 SAfHeER

(B) &l =h qAfefame 1 &R

(C) ww™fd =Y

(D) SIYeafeeR o1 FeATETo

=1 fou T foeredi © | waifere e I9T H 997 9

Options :

878270164037. 1
878270164038. 2
878270164039. 3

878270164040. 4

Question Number : 101 Question Id : 87827041773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is covered under integrated child development scheme ?
(A) Supplementary nutrition

(B) Family planning

(C) Immunization

(D) Nutrition and health education

Choose the correct answer from the Dpl’iDHS given below :
(1) (A), (B), (C) Only

(&) (B), (©), (D) Only
() (A), ©), (D) Only
(4)  (A) (B), (D) Only
Options:
878270164041. 1
878270164042. 2
878270164043. 3

878270164044. 4

Question Number : 101 Question Id : 87827041773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) A (A), (B), (D)

Options :



878270164041. 1
878270164042. 2
878270164043. 3

878270164044. 4

Question Number : 102 Question Id : 87827041774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following articles in the Indian constitution deals with the empowerment of women ?
(A) Article 42
(B) Article 243D
(C) Article 44

(D) Article 51 A (C)

Choose the correct answer from the options given below :

1) (A), (B) (©) Only

(

® ®) () (D) Ony
() (A) (C), D) Only
@ () 8) (D) Ony
Options :

878270164045. 1
878270164046. 2
878270164047. 3

878270164048. 4

Question Number : 102 Question Id : 87827041774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A) =T 42
(B) =% 243D

(C) aTT=ee 44
(D) #T=7 51 A (Q)
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(1) = (A), (B), (C)

() wad (B), (O), (D)
(3) =ad (4), (©), (D)
(4) a4 (A), (B), (D)
Options:

878270164045. 1
878270164046. 2
878270164047. 3

878270164048. 4

Question Number : 103 Question Id : 87827041775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the goal of immersive research method ?

(A) Toenhance the learning Experience by creating a sense of presence and emotional engagement

(B) Toenhance the learning experience by being passive recipient of the information and refrain
from active participation

(C) To enhance the learning experience by keeping a distance from decision making

(D) To enhance the learning experience by active patticipation

Choose the correct answer from the options given below :

(1) (A)and (B) Only

() (A) and (D) Only
() (B) and (C) Only
() (B and (D) Only

Options :



878270164049. 1
878270164050. 2
878270164051. 3

878270164052. 4

Question Number : 103 Question Id : 87827041775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164049. 1
878270164050. 2
878270164051. 3

878270164052. 4

Question Number : 104 Question Id : 87827041776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which are qualitative methods for data collection ?
(A) Ethnographic study

(B) Census study

(C) Case study

(D) Survey

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A) and (C) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Options :

878270164053. 1

878270164054. 2

878270164055. 3

878270164056. 4

Question Number : 104 Question Id : 87827041776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
TS e T TumeHes faftal F 9 82
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(C) T&IU T
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(1) <A (A) SR (B)

(2) HFA (A) 3R (Q)
(3) = (B) 3R (D)
(4) e (B) AR (O)

Options :



878270164053. 1
878270164054. 2
878270164055. 3

878270164056. 4

Question Number : 105 Question Id : 87827041777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the key steps in interdisciplinary approach ?
(A) Top-down approach

(B) Triangulation

(C) Multimodal thinking

(D) Linear approach

Choose the correct answer from the options given below :
(1) (A) and (D) Only

(2) (A)and (C) Only

(3) (C) and (B) Only

(4) (B) and (C) Only

Options :

878270164057. 1

878270164058. 2

878270164059. 3

878270164060. 4

Question Number : 105 Question Id : 87827041777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(4) %9 (B) ¥R (C)
Options:

878270164057. 1
878270164058. 2
878270164059. 3
878270164060. 4

Question Number : 106 Question Id : 87827041778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the true facts on reproduction rights of Indian women :

(A) All kinds of abortions are permitted by the law

(B) Commercial surrogacy is banned in India

(C) Sterilization as a birth control method to be applied on women only
(D) Sex determination and sex preselection is prohibited

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only

Options :



878270164061. 1
878270164062. 2
878270164063. 3

878270164064. 4

Question Number : 106 Question Id : 87827041778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270164061. 1
878270164062. 2
878270164063. 3

878270164064. 4

Question Number : 107 Question Id : 87827041779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following facts of the work “The Other Side of Silence’, Voices from the Partition of Indin
are frue ?

(A) The author is Kamla Bhasin

(B)  The author uses oral history method

(C) It consists of interviews conducted with survivors of the partition of India
(D) The author is Urvashi Butalia

Choose the correct answer from the options given below :

(I) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (A), (C) and (D) Only
(4) (A), (B) and (D) Only
Options:
878270164065. 1
878270164066. 2
878270164067. 3

878270164068. 4

Question Number : 107 Question Id : 87827041779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164065. 1
878270164066. 2
878270164067. 3

878270164068. 4

Question Number : 108 Question Id : 87827041780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the three foundational principles of the Convention on the Elimination of Discrimination
Against Women (CEDAW) ?

(A) Formal equality

(B) Substantive equality

(C) Nondiscrimination

(D) State obligation

Choose the correct answer from the options given below :

(I) (A), (B) and (C) Only

Q) () (0 and (D) Onl
(3) (A), (C) and (D) Only
(4) (A), (B) and (D) Only
Options :

8782701640609. 1
878270164070. 2
878270164071. 3

878270164072. 4

Question Number : 108 Question Id : 87827041780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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= feu v fasredi § § 98 39T 1 =94 FIf9U
(1) dd (A), (B) 3R (O)

(2) 9 (B), (C) ¥R (D)
(3) %= (A), (C) 3R (D)
(4) 9 (A), (B) R (D)

Options:

878270164069. 1
878270164070. 2
878270164071. 3

878270164072. 4

Question Number : 109 Question Id : 87827041781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the arguments in support of ‘Environment is a feminist issue’ ?

(A) Conceptual basis of oppositional, exclusive, value hierarchies of woman nature connections
(B) Power over conceptions of power and relationships with woman/nature

(C) Primary value of nature is it's utility for human needs

(D) First world development policies which are based on exploitation of woman/nature

Choose the correct answer from the npl‘ions given below :

(I) (A), (B) and (C) Only

() (B), (C) and (D) Only
(3) (A),(C) and (D) Only
(4) (A), (B) and (D) Only

Options :



878270164073. 1
878270164074. 2
878270164075. 3

878270164076. 4

Question Number : 109 Question Id : 87827041781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e o e g & 3 e B e Qe
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A fou Tu fomedi ¥ ° WE SO A = 0
(1) %39 (A), (B) 3R ()

(2) 9 (B), () ¥R (D)

(3) &ad (A), (C) 3R (D)

(4) A (A), (B) S (D)

Options :

878270164073. 1
878270164074. 2
878270164075. 3

878270164076. 4

Question Number : 110 Question Id : 87827041782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to Iris Marion Young in her work ‘Polity and Group Difference : A Critique of the Ideal of
Universal Citizenship” which of the following are required for a genuine commitment to universal
citizenship ?

(A) Differentiated citizenship

(B) Citizens as individual with equal legal rights

(C) Special forms of representation for disadvantaged groups

(D) Melting pot theory

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (A)and (C) Only
(3) (B)and (C) Only
(4 (B) and (D) Only
Options:

878270164077. 1
878270164078. 2
878270164079. 3

878270164080. 4

Question Number : 110 Question Id : 87827041782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164077. 1
878270164078. 2
878270164079. 3
878270164080. 4

Question Number : 111 Question Id : 87827041783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The judgement of the NALSA V5 Union of India case (2014) :
(A) Led to the recognition of transgender people as third gender by the Supreme court of India

(B) Affirmed that the fundamental rights granted under the constitution of India are equally
applicable to the third gender

(C) The verdict affirmed gender binary identity
(D) Gave transgender people the right to self identification of their genders as male, female or
third gender

Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (B), (C) and (D) Only

4) (A),(C) and (D) Only

Options:

878270164081. 1

878270164082. 2

878270164083. 3

878270164084. 4

Question Number : 111 Question Id : 87827041783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164081. 1
878270164082. 2
878270164083. 3

878270164084. 4

Question Number : 112 Question Id : 87827041784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The role of the National Commission of Women (NCW) is to :

(A) Exercise legislative powers

(B) Facilitate redressal of grievances

(C) Recommend remedial legislaive measures

(D) Advise the government on all policy matters affecting women

Choose the correct answer from the npt‘iuns given below :

(1)  (A), (B) and (C) Only

(2) (A), (B) and (D) Only
(3) (B), (O) and (D) Only
(4) (A), (C) and (D) Only



Options :

878270164085. 1
878270164086. 2
878270164087. 3

878270164088. 4

Question Number : 112 Question Id : 87827041784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270164085. 1
878270164086. 2
878270164087. 3

878270164088. 4

Question Number : 113 Question Id : 87827041785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Dakshata, an initiative under National Health Mission, launched in the year 2015 aims at :
(A) Tracking of pregnant women to enable safe delivery
(B) To examine the causal factors and bottlenecks to efficient health service delivery

() To improve the quality of maternal and new born case during the intra and immediate post
P q b P
partum period

(D) Capadty building of Aganwadi workers

Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (C), (D) and (A) Only

4) (A), (D) and (B) Only

Options:

878270164089. 1

878270164090. 2

878270164091. 3

878270164092. 4

Question Number : 113 Question Id : 87827041785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270164089. 1
878270164090. 2
878270164091. 3

878270164092. 4

Question Number : 114 Question Id : 87827041786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The phases of Literary sub culture in showalter's work A Literature of Their Own is designated as :
A) Feminine

B) Feminist

C) Female

D) Familial

Choose the correct answer from the options given below :

1) (A), (B) and (C) Only

2) (B), (C) and (D) Only

3) (O, (D) and (A) Only

4) (A), (D) and (B) Only
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(

Options :

878270164093. 1
878270164094. 2
878270164095. 3

878270164096. 4

Question Number : 114 Question Id : 87827041786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270164093. 1
878270164094. 2
878270164095. 3

878270164096. 4

Question Number : 115 Question Id : 87827041787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the difference between “sex” and “gender” in the context of gender studies ?

(A) ‘Sex' refers to biological characteristics while “gender’ refers to cultural and social roles
(B) "Sex' refers to male and female while gender refers to masculine and feminine

(C) Sexis an achieved identity and gender is ascribed identity

(D) Gender is an achieved identity and sex is an ascribed identity

Choose the correct answer from the options given below :

(1) (A),(C) and (D) Only

(2) (A), (B) and (D) Only

() (B)(C) and (D) Ony

(4) (A), (B) and (C) Only



Options :

878270164097. 1
878270164098. 2
878270164099. 3

878270164100. 4

Question Number : 115 Question Id : 87827041787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fem ST Ao o Hesl o T (sex) 3 SIS (gender) % Wil 0 S &7

(A) T’ gt foad < € St Set 1 e wiptos o gt e @
(B) ‘5’ EW SN Wi § Feifvid ¢ Fal St YT S T Y Favn ¢

(C) e U W9 oM & &R SfSt U e Y& €

(D) €T T T4 T ¢ S Ha T 950 T &

el feu U foshedl # | WE SRR A 79 I

1) #dd (A), (C) 3 (D)
2) %A (A), (B) 9 (D)
3) %A (B) (C) R (D)
) (A)(

G
3R
4) w9 (A), (B) 3R (Q)

—— e —

Options:

878270164097. 1
878270164098. 2
878270164099. 3

878270164100. 4

Question Number : 116 Question Id : 87827041788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
List - 1 List - 1I
Queer issues Initiatives
(A) Indja pink (
(B) Yarana (IT) 1s the first men's only travel company in India
(€)  Queer link (IT) the first gay anthology in India edited by Hoshang Merchant
(D) Bombay dost (

[) Indian first gay magazine launched by Ashok Rao Kavi
Il

IV) an exclusive publishing and marketing agency on LGBT
literature located in Mumbai

Choose the correct answer from the options given below :
(1) (A, B)-(I), (CHII), D)-1V)

(2) (AR, B0, ©-), D)-1V)
(3)  (AHLV), (BHI) (CHI), (D)
(4) (AT, (B)-(), ©-IV), (D))
Options :

878270164101. 1
878270164102. 2
878270164103. 3

878270164104. 4

Question Number : 116 Question Id : 87827041788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el % 09 el 7 e e
Tl -1
el e
(A) FEfiE () o TE A R AR T R e Hedfies wfe
(B) AW () 7RG okt G o1 o (AN) O atel ol
() @Rfd® (D) &9 Toe G HOICE G 1 99 Hin S
(D) el T (IV) s fed T S0 off 3 e waiell 0 U G Tl foqoe ot
e fou o foedl © 9 W8 SR T Fi
(1) (AHI), (B)-(W), (CH), (D}-IV)
) (A, (B, (C-(1), (D)-(IV)

@ (A |
() (AHIV), (B)L), (C)(I), (D)
(@) (AMI, B, ©-1V), D))
Options :

878270164101. 1
878270164102. 2
878270164103. 3
878270164104. 4

Question Number : 117 Question Id : 87827041789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List-1I
Protests People
(A) The Nupi Lan (I)  The Dadi's (grand mothers) because part and
prominent face of the protests
(B) The Shaheen Bagh () Means Women torch bearers. It is a women's social
movement in the state of Manipur
(C) Anti Arrack (I) Women from the small village of Dubagunta in

Andhra Pradesh began movement for prohibition
against country liquor in 1990
(D) Armed Forces (Special) (IV) Irom Sharmila and the 12 naked women protest
Power Act (AFSPA)

Choose the correct answer from the Uptiuns giv en below :

(1) (AR, (B}, (CHIL), D-IV)

@ (AHI), B)-0), (O, D)-IV)
() (AHII), (BH), (©O)-(1), (DHIV)
(@) (AHLV), (B0, CHL), DM)
Options:

878270164105. 1
878270164106. 2
878270164107. 3

878270164108. 4

Question Number : 117 Question Id : 87827041789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-L o 91 i1 1 e it
Tl T-I1

feer (ameter) i
(A) T & () & e ey (aeRm) | 9 o w v
e foaer e
(B) WA (I) 1 Hicw Hfeen Aew® &1 % AR T A
fer 71 e i TSR AT
€ (II1) ST 3 Tt 3 B i 1 Hfeenad 1 1990

HEWH Y % Y R SRR TR
(D) G ot (fordw i) afefemy (1V) 0w fifen el 12 e wfeemedf 3 fe fam
4 fou T fomedl § H W@ SR T F
(1) (AHI), (BK), (CHII), (D-IV)
(@) (AHI), (B)-(), (CHII), (D)
() (AN, (B)-(D), (C)-{1), (D)IV)
(4)  (AHIV), (BHI), (C)(), (DHI)
Options:
878270164105. 1
878270164106. 2
878270164107. 3

878270164108. 4

Question Number : 118 Question Id : 87827041790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 1L

List - I List - II
Womens Organisation Area of work
(A) Vimochana () Support sex-workers and their children
(B) Mitti ke Rang (I)  Support women farmers
(C) MAKAAM (III) Assist victims of domestic violence
(D) Durbar (IV) Empowering widow and single women

Choose the correct answer from the options given below :

(1) (A)-(), (B}-(1), (OIV), (D)-(I)
(2 (A)-(I), (B}-(IV), (O-(1), (D)-()
(3)  (A)-(), (B)-(ID), (©)-(IV), (D)}-(I)
(4)  (A)-IV), (B)-(D), (C)-(I), (D)-(I)
Options :

878270164109. 1
878270164110. 2
878270164111. 3

878270164112. 4

Question Number : 118 Question Id : 87827041790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o 9191 -1 1 T i
Tl Tt

wfeer e & gt
(A) fomrT () % =R F T 5 o= A e e
B) g & () wizen e 21 He Temd i &g
(C) WM (111) s e & vifedl 1 e e ¥
(D) TR (IV) fareren U6 Tt (Hferenfen) wfeens = qufemeR g
A feu U forredt W 9 WE T A A Fi ;
(1) (A)-(D), (B)-(I), (C)-(IV), (DI
(2)  (A)(Im), (B)IV), (CHI, (D)-0)
(3)  (A)-(I), (B(IL), (©-(IV), (D)-0)
(4)  (A)-(IV), (BIHD), (CH(I), (D)

Options :

878270164109. 1
878270164110. 2
878270164111.3

878270164112. 4

Question Number : 119 Question Id : 87827041791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - I1
International conventions Year
(A) CEDAW (Convention on Elimination of all () 1975
forms of Discrimination Against Women)
(B) Mexico plan of action (IT) 1993
(C) The Nairobi forward looking strategies (1) 1995
(D) The Beijing platform of action (IV) 1985

Choose the correct answer from the Uptiuns g"wen below :

(1) AHIV), (B)-(ID), (O)-(1), (D)-(LII)

(2) (A ){B){IV){)(){){}
(3) (A0, (B}(ID), (CHIV), (D))
@ (AW, (B)-0), (CHI), (D)-V)
Options:

878270164113. 1
878270164114. 2
878270164115. 3

878270164116. 4

Question Number : 119 Question Id : 87827041791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i1 o F19 Geft-11 1 firer #ife
-1 -1

ERUL-RE ALY i
A) ¥ EE U ged Wieens & Ui g TR R SR o S () 1975
gall sifirgmg
(B) Wi W e () 1993
(C) Tt o fie FrfaaT (Rt BRATE qfe el (I 1995
(D) @S e 7o (IV) 1985
A fou o foemedi H § W& TR Bl T FIAC ;
(1) (A)-IV), (B, (O-(1), (D))
() (A)-(I), (BHIV), (CHID, (D))
(3) (A0 (B}, (CHV), D))
(4)  (A)-(I), B)-(1), (C-II), (D)-(IV)
Options :

878270164113. 1
878270164114. 2
878270164115. 3

878270164116. 4

Question Number : 120 Question Id : 87827041792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - 11
Tribal society Forms of Marriage
(A) Todas in Nilgiri hills (I)  Cross cousin marriage
(B) Apatani in Arunachal Pradesh (II) Monogamy
(C) Bodo in Assam (Ill) Polyandry
(D) Gonds in Madhya Pradesh (IV) Polygamy
Choose the correct answer from the options given below :
(1) (A, (BHIV), (O(1D), (D)-(1)
(@) (AHIV), (BHI), (C)-(LT), (D))
(3) (A, (B)-(I), (O-1V), (D))
(4) (AR, (B, (©)-1), (D)-1V)
Options :

878270164117.1
878270164118. 2
878270164119. 3

878270164120. 4

Question Number : 120 Question Id : 87827041792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife

-1 -1
EEEIGIER LI faame yww
(A) rafTR gerEl & 2ren () %M *iSH foare
(B) STEUTE U9l o ST (I) TeHfaemEgen
(C) 3" & drel (Il1) srgqfagen
(D) WYY & e (IV) =gfaar

= feu 7o foredi § | W& I 1 = ST
() (A)I), (B)-(1V), (O)(1L), (D)-(1)

(2)  (A)-(IV), (B)-(D), (C)-(IT), (D)~(IIT)

(3) (A1), B)-(I), (O)(1V), (D)-(IIL)

(4) (A, (B)~(1D), (©)-(I), (D)-(IV)

Options :

878270164117. 1

878270164118. 2

878270164119. 3

878270164120. 4

Question Number : 121 Question Id : 87827041793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Name of the Scientist Field of Achievement
(A) Tessy Thomas () Virologist, first Indian Woman Fellow of Royal
Society (FRS)
(B) Ritu Karidhal (I)  Missile Woman, Project director, Agni4 missile
(C) Gagandeep Kang () Rocket woman, mission director, Chandrayan-2
(D) Mangala Mani (IV) ISRO's first woman scientist to spread more than a

year in the icy landscape of Antarctica
Choose the correct answer from the options given below :
(1) (AM1), (BHY, (CHIV), D)
(2) (A, B)-(I), (©)-(1v), D)0
() (A, B)-H), ©-0), D)-(IV)
(4)  (AHI), (BH(), (CHIV), (D)

A

(A
) (A)
) (A)
Options :
878270164121. 1
878270164122. 2
878270164123. 3

878270164124. 4

Question Number : 121 Question Id : 87827041793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-L o 91 i1 1 e it
Tl I

it afmm e
(A) ¥ 9y (1) forere fergm, 7o WIS (U R TH) S G A wigel e
) fg e (1) e iR e e, aifad free
(C) T () ek oo, Tao ek, w2
(D) ¥ Hf (V) 380 1 T Hieen feret forei sferbfean & fen-y- gt # W
70§ e 1 T A
A fou U foepedl # 9 @ S 1 T H
(1) (A){1), (BRI, (C-(IV), (D}
(@) (A){I), B)-(), (C)-V), (D))
(3) (-, G-, -0, (D)-1v)
() (A)M1), BRI, (C-(IV), (D)
Options:

878270164121. 1
878270164122. 2
878270164123. 3

878270164124. 4

Question Number : 122 Question Id : 87827041794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I
Figures Place
(A) Saraladevi Chaudhurani (I)  Assam
(B) Kanaklata Barua (I) Madras
(C) Rani Gaidinliu (Il) Bengal
(D) Durgabai Deshmukh (IV) Manipur and the adjoining Naga areas

Choose the correct answer from the options given below :
(1) (AHD), B)-(I), (C-(), (D)-{IV)
(@ (A)HI, B)-(ID, ©)-{IV), (D)-0)
(3 (1), (B)-(I), (C}-(IV), (D)}-(I)
( (

(A
) (A
1) (AHIV), (BHID, (C)-{1), (DHI)

)
A)-
Options :
878270164125. 1
878270164126. 2
878270164127. 3
878270164128. 4

Question Number : 122 Question Id : 87827041794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % W1 Fei-11 o1 e e
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TE aeh T
(A) TR ST () @9H
(B) THIheI e () wE™
(C) T Tifef<ryg (IIT) e
(D) g <o (IV) HfUgE e & gu, T

A= fou o foredi ® 9 W& IO 1 =9 Hif
(1) (A1), (B}-(LT), (O)(II), (D)-(IV)

(2)  (A)ID), (B)-(IL), (C)-(IV), (D)-(I)

()  (A)-(I), (B)-(D), (O)-(IV), (D)-(1T)

(4)  (A)-(IV), (B)-(1), (O)-(I), (D)D)

Options :

878270164125. 1

878270164126. 2

878270164127. 3

878270164128. 4

Question Number : 123 Question Id : 87827041795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11

List - 1 List - II
Women of Courage Award Year
(A) Maggie Gobsan (I) 2019 (Egypt)
(B) Zarifa Ghafari (I 2020 (Afghanistan)
(C) Muskan Khatun (L) 2021 (Nepal)
(D) Taif Sami Mohammed (IV) 2022 (Iraq)

Choose the correct answer from the options given below :

(1) (A1), (B)-(11), (C)-(IL), (D)-(IV)

(2) (A1), (B)-(UD), (©)-(1V), (D)-[0)
(3) (A)-(), (B)-(1V), (O1), (D)-(1)
4)  (A)-IV), (B)(D), (C)-(1L), (D)-(I1I)

Options :

878270164129. 1
878270164130. 2
878270164131. 3

878270164132. 4

Question Number : 123 Question Id : 87827041795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eit-1 o T19 Ga-11 1 fiei it

Tefl-1 11
TTEE QTR UTe Higetmy ad
(A) W T () 2019 (fre)
(B) ST ST (I) 2020 (STEIETH)
(C) WERH @I (L) 2021 (A7)
(D) AT HIH HEwHg (IV) 2022 (3T)

= feu o fomedi § © W& IO F T FHifo

(1) (AD), (B)-(I), (O)-(I), (D)-(IV)
(2) (A1), (B)-ID), (C)-(1V), (D)-I)
(3) (A)I), (B)HIV), (O)-(I), (D)-(II)
@) (A)(IV), (B)-(I), (C)-(II), (D)II)
Options :

878270164129. 1
878270164130. 2
878270164131. 3

878270164132. 4

Question Number : 124 Question Id : 87827041796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List-1I
Person Popularity
(A) Chimamanda Ngozl Adichie ~ (I) ~ The initiator of the # METOO Movement in the year
2006
(B) Gloria Steinem (I) Played a key role in the environmental movement
(C) Gaura Devi (I) Well known for her TED talk "The Danger of a Single
Story’
(D) Tarana Burke (IV) Knownas the ‘Mother of feminism’ she is the founder
of MS Magazine

Choose the correct answer from the options given below :
(1) (A, B)(I), (CHI), D)-1V)

(2)  (AHI, (B)-(, ©-1v), D)-0)
(3) (AR, (BIV), (CHL), D))
() (AHIV), (BII), (K0, (D)
Options :

878270164133. 1
878270164134. 2
878270164135. 3

878270164136. 4

Question Number : 124 Question Id : 87827041796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-L o 91 i1 1 e it
T LI

e vt (@)

(A)  Femmey it Tl () 2006 ¥ # H ¢ SicIer A AR

(B) Tl EAA () e el oy e o

() T () &% 2 3 S i (2) '3 &R aiw U T 2 6
ferem

(D) @ TH (V) RTeG 1 T o ¥4 H ¥ 98 T T AT 6 §RI0F ¢

A fou U foepedl # 9 @ S 1 T H

(1) (AH), (B){I), (CHII), (DV)

() (AR, (-, C)-(Iv), (D[

(3)  (AHIm), (BIV), (CHI, (D)1

() (AHIV), (B){I), (CHII), (DHD)

Options:

878270164133. 1
878270164134. 2
878270164135. 3

878270164136. 4

Question Number : 125 Question Id : 87827041797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
Leaders Movements
(A) Chandraprabha Saikiani () Navdanya
(B) Gaura Devi (I) Narmada Bachao Andolan
(C) Vandana Shiva (M) Chipko Movement
(D) Medha Patkar (IV) National freedom movement of India

Choose the correct answer from the options g'wen below :

(1) (A)-(0), (BRI, (OHLV), (DHIL)

(2) (A, B)-(IV), (C)-(), (D))
(3)  (A)I), B)-(D), (L), (D}-(IV)
(4)  (A)(IV), (B)-(I), (CHI), (D))
Options :

878270164137. 1
878270164138. 2
878270164139. 3

878270164140. 4

Question Number : 125 Question Id : 87827041797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Gei-11 =1 e s
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S aiere
(A) <=9 S () e
(B) T <EH (I1) e F=nsd SAiReH
(C) e fren (Il1) Ta9eR1 Qe
(D) HHYT YT (IV) 9RA 1 T TEasal e

A= fou o foredi ® 9 W& IO 1 =9 Hif
(1) (A1), (B}-(LL), (O)-(IV), (D)-(1LI)
(2) (A1), (B)-(IV), (O)-(I1L), (D)~(D)
(3) (A)-(Im), (B)-(D), (C)-(II), (D)-(IV)
(4)  (A)-(IV), (B)-(IL), (O)-(I), (D)-(1I)
Options :
878270164137. 1
878270164138. 2
878270164139. 3

878270164140. 4

Question Number : 126 Question Id : 87827041798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fnllnwing n chl'cmﬂlngical order :

(A) The Factory Act

(B) The Plantation Labours Act

(C) The Mines Act

(D) The Matermnity Benefit Act

Choose the correct answer from the options given below :
1 (A), (B), (O, (D)

(2) (B), (D), (O, (A)

(3)  (©) (D), (A) (B)

4) (A), (D) (B), (O



Options :

878270164141. 1
878270164142. 2
878270164143. 3

878270164144. 4

Question Number : 126 Question Id : 87827041798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafEd =1 FERAHER SFEdd Hie
(A) TR stfufrad

(B) &M g9 i

(C) @A HfafrTH

(D) wgfa ggfasn stfufam

=1 fou 7o fawedi § 9 W& SO 1 F94 FHife

(L) (A), (B), (O, (D)
(2) (B), (D), (©), (A

)
3) (©), (D), (A) (B)
(4) (A), (D) (B), (O

Options:

878270164141. 1
878270164142. 2
878270164143. 3

878270164144. 4

Question Number : 127 Question Id : 87827041799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange in order on how thematic analysis is done :
(A) Generate initial codes by systematically coding the whole data set

(B) Review and refine themes to check if themes work in relation to data set by establishing
linkages between them

(C) Familiarize one self with data set i.e. initial comments and ideas

(D) Search for themes and collate similar codes into potential theme or gather all data for potential
theme

Choose the correct answer from the options given below :
() (€ (a) D), {)

@ (A) (©) @) D)

(3) ) (), (A) D)

(4 () (A) ®) ©

Options:

878270164145. 1

878270164146. 2

878270164147. 3

878270164148. 4

Question Number : 127 Question Id : 87827041799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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¥ 7

(C) T 1 &2 B wftfe o, e afork fevofm 9 form

(D) YA H1 T R G F2l H G FUFeR| H o S §od FFa o 99 <
T F

e feu T foeredt o ¥ W SO A T F

(U (©) (A), D), ()

2) (A), (), (B) (D

(B), (C ) (A)(

(

-._.-.._..'=._—

Options :

878270164145. 1
878270164146. 2
878270164147.3

878270164148. 4

Question Number : 128 Question Id : 87827041800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the committees for education on Women in India chronologically :
(A) University Education Commission
(B) Second Education Commission
(C) The National Perspective Plan on Woman
(D) National Policy of Education
Choose the correct answer from the options given below :
1) (A) B), (D), ©
2) (A) (), (C) (D)
B), (A), (©)
)



Options :

878270164149. 1
878270164150. 2
878270164151. 3

878270164152. 4

Question Number : 128 Question Id : 87827041800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

R | Sl foig gal 1 gfufadi 1 sresrarar serer wifsw

(A) Torgafe=mer form s

(B) faera faan smm

() Fordi waith T wfe e

(D) Tgrg T Hifa

= fou v fowedl § ¥ W@ SO 1 =994 F0

(1) @A) (B), (D), ©

2 (A) (B), (©) (D)

3) (D) (B), (A), (©

(4) ), (D)
Options:
878270164149. 1
878270164150. 2
878270164151. 3

878270164152. 4

Question Number : 129 Question Id : 87827041801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following movements chronologically :

(A) Self Employees Women's Association (SEWA)

(B) Non-Cooperation Movement

(C) Anti Dowry movement and Dowry Prohibition Act
(D) Stop Acid Sale Movement

Choose the correct answer from the npl‘iuns given below :

(1) (B), (A), (O, (D)
2 (B), (O (D), {ﬂ)
(3)  (B), (C), (A) (

4) (©), (D), (B), {ﬂ)
Options:

878270164153. 1
878270164154. 2
878270164155. 3

878270164156. 4

Question Number : 129 Question Id : 87827041801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(A) TEfEife Afeen 99 (09 € g9 ©)

(B) TEEAN FHlRIeH

(C) <esl faledt eTicier 9 ges gfauy srfufam
(D) =7 fosra ufqafia e Fat stices
= fou U fosmedi § ¥ 9@ 30T F 9949 HifaT
(1) (B), (A), (O, (D)

(2) (), (©) (D), (A)

3) (B), (O, (A), (D)

4) (©), (D), (B), (A)
Options :

878270164153. 1



878270164154. 2
878270164155. 3

878270164156. 4

Question Number : 130 Question Id : 87827041802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the chronological sequence of the following International laws and principles ?

(A) DEVAW Declaration on the elimination of violence against women

(B) CEDAW Convention of the elimination of all forms discriminations against women

(C) Yogyakarta Principles

(D) CAT Convention torture and other cruel, inhuman or degrading treatment or punishment

Choose the correct answer from the options given below :

(1) (@A), @) ©) O

Options :

878270164157. 1
878270164158. 2
878270164159. 3
878270164160. 4

Question Number : 130 Question Id : 87827041802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et sfeeea Al @ fagil 1 e 1 8 7

(A) 33T oy B o e & e ge Ao

(B) HI % 2T Ty fodl o fobg 9eWE % THM &Yl 1 THING Gath Fave
(C) ATl fagia

(D) © T3 A 9 I G, SHAEE s1oa frig sian g8 foleh Feve
e fau T foskedl o § W& I T FIGC

(1) (a), (B), (O) (D)

Options:

878270164157. 1
878270164158. 2
878270164159. 3
878270164160. 4

Question Number : 131 Question Id : 87827041803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the Womens Suffragette rights in India chronologically :

(A) Nomination of Muthulakshmi Reddy for Madras Legislative council

(B) Montague Chelmsford reform and granting voting rights to 10 lakh women
(C) Inclusion of 15 women members in constituent assembly

(D) Universal adult suffrage granted in the Rajkot state

Choose the correct answer from the npl‘iuns given below :

(1) (A) ®), (C) (D)

@ () (©) (4) D)
() (B), (D) (A) ©
@ (B) (4) Q) D)
Options :

878270164161. 1



878270164162. 2
878270164163. 3

878270164164. 4

Question Number : 131 Question Id : 87827041803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
R | Afeellsll ol Y o6 7T Waifemrl i FIesh g Zafked Hifau ;
(A) W= faum gfteg o foqg qeyees 150 1 A
(B) =T TS YR 3R 10 TG Rigelsl i HalfeepR 9eH FE
(C) wfaum e 7 15 wieen T 1 Gy
(D) TShIE T4 H AU 97w Wl s YaH fohan 7

el feu e foshedi o | W& I = FIWT
(1) (A), (B), (©) (D)
2 (B), (Q) (A) (D)
(3) (). (D), (A) ©
@ (B), (A), (C) (D)
Options :

878270164161. 1
878270164162. 2
878270164163. 3
878270164164. 4

Question Number : 132 Question Id : 87827041804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following acts in a chronological order :

(A) The sexual harassment of women at workplace (Prevention Prohibition and Redressal) Act
(B) The Dowry prohibition Act

(C) Pre conception and prenatal diagnostic techniques act

(D) Protection of women from domestic violence act

Choose the correct answer from the npl‘ions given below :

@) () 0, A

Options:

878270164165. 1
878270164166. 2
878270164167. 3
878270164168. 4

Question Number : 132 Question Id : 87827041804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeAferfiern sifafemi <1 ShIeTshATIaR Safeerd HifsT ;

(A) wfeenel 1 Frivyd R T Seied (fFemo, gfauy o gfad) sfufwm
(B) et wfawy sferfem

(C) THR Yol SR e dekeieR s

(D) Y] e § wigen g sfufam

et feu Tu foshedi # © WE I B A F{C :

() (B), (D) (©) (A

2 (A) ®) (D) ©
3) (), (C) (D), (4)
4) (D) (B), (C), (A)
Options :

878270164165. 1



878270164166. 2
878270164167. 3

878270164168. 4

Question Number : 133 Question Id : 87827041805 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

International attempts to eradicate violence against women to be arranged chronologically :
(A) Prohibition against sex determination was first incorporated in the UN charter

(B) The international covenant on civil and political rights guarantees equal protection of the
law to both sexes

(C) Beijing platform of action
(D) The Vienna Accord

Choose the correct answer from the options given below :

(1) () ) () [O)

(@ () (C) (A) D)
(3) (A) ®) D), ©
(4 (€ (8) (A) (D)
Options :

878270164169. 1
878270164170. 2
878270164171. 3

878270164172. 4

:No

Question Number : 133 Question Id : 87827041805 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



nfeenell % i fe & e % i WAl 1 FTHATER STt FHi ;

(A) fem fasiem yfauy 1 eeit 9% 4 O3 =R H it R T

(B) i i v Teu iR wfeenadl 1 @ fof % TR Wi ¥ T 9oH @ §
(C) Sl @i & THRH

(D) e T

et feu T fomedl % | W& T T FIC

(1) (&), 6),(© (D)
2) (B) () (A) (D
3) (), (D), (©)
) O

®)
(A), (B), (
4 B), (4), (D)

(
(
@ ©
Options:
878270164169. 1
878270164170. 2
878270164171.3

878270164172. 4

Question Number : 134 Question Id : 87827041806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange chronologica]l}f the initiatives for greater representative of women in the pulilical institution
in [ndia:

(A) Women's Reservation Bill

(B) National Perspective Plan

(C) Towards Equality Report

(D) 73" Amendment to the constitution of India
Choose the correct answer from the options given below :
1) (A) @) () D)

@ ®)(© D) A

() (© D) @) 6

@ (© ®) D) @)

Options :



878270164173. 1
878270164174. 2
878270164175. 3

878270164176. 4

Question Number : 134 Question Id : 87827041806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WG o TS Se § wfeclsl % Wew Wi o o0 # T T B FGhHTEn A
Fifu

Options :

878270164173. 1
878270164174. 2
878270164175. 3

878270164176. 4

Question Number : 135 Question Id : 87827041807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange in chronologically order :

(A) Mary Wollstonecraft A Vindication of the Rights of Women
(B) Mary Astelle A Serious Proposal to Ladies

(C) Virginia Woolf A Room of One’s Own

(D) Betty Friedan A Feminine Mystique

Choose the correct answer from the options given below :

(1) (A), (B), (O, (D)

(2 (B), (A), (Q), (D)

)
(3) (B), (O, (D), (A)
4) (©), (D), (A) (B)
Options:
878270164177. 1
878270164178. 2
878270164179. 3

878270164180. 4

Question Number : 135 Question Id : 87827041807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feferfea =1 FIeFAER SHafeed Hifsy

(A) T deerewe U fafEHyE % § ey % ad’
(B) T wed ‘U Hi{EE yuSa 2 dfes’

(C) dafifan 9% ‘T w9 3% 99 31’

(D) €l WisH ‘T Sl fafes’

= feu v fasredi § 9 | 3O & =94 iU -

(L (A), (B), (), (D)
(2)  (B), (A) (©), (D)
(3)  (B), (O (D), (A)
4) (©), (D) (A) (B)

Options :

878270164177. 1



878270164178. 2
878270164179. 3

878270164180. 4

Question Number : 136 Question Id : 87827041808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Law is not that important to deal with traffickers in India.

Reason (R):  The conviction rate of traffickers in India is low

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270164181. 1

878270164182. 2

878270164183. 3

878270164184. 4

Question Number : 136 Question Id : 87827041808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Al 31 e fou U E: v Afirmem (Assertion A) % w1 ffga ¢ & T T4 (Reason R) E]
wA g

e (A) : o 8 A (fafe) goatm o wfera @ @ Froed & s el K 21
T (R) : ¥ ¥ gt wfers @ o Ghvfat < ag 9 €

TG 9 6 AR H, Ao 150 T ol e U I T R

(1) (A) 8 (R) <1 5 & 4R (R), (A) 3 el oA &

() (A) 4R (R) S 5E &, e (R), (A) F 8 A TE &

(3) (AT & O (R) T T ©

(&) (A)TE T € A (R) TR &

Options :

878270164181. 1

878270164182. 2

878270164183. 3

878270164184. 4

Question Number : 137 Question Id : 87827041809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Women writing their lived lives have had to confront power and control.

Reason (R):  The problem for the female autobiographer confirming to a female ideal which is
largely a fantasy of men and the societal norms,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270164185. 1



878270164186. 2
878270164187. 3

878270164188. 4

Question Number : 137 Question Id : 87827041809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A4 € %o feu T 0 afvemem (Assertion A) FE i frfga g o S I (Reason R) F

wH g

AR (A) : ST S o o forg ared wfzenat 1 5 @ e e w e

I (R) : Hieer e e @ we Hieen ey # e : G T A I 9§ 4 [
g qFCE) T i ¢

TR U o el H, A few 0 forped # § WaW IUqa I 9 A0

(1) (A) 3 (R) S &1 & 3T (R), (A) F FE) €A &

(2) (A) ¥R (R) S 9 €, WA (R), (A) F 9K A T ¢

(3) (A) W& € oo (R) 5e Tl €

() (A) W T & olf (R) W

Options :

878270164185. 1
878270164186. 2
878270164187. 3
878270164188. 4

Question Number : 138 Question Id : 87827041810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : Women have historically suffered due to systemic inequity and barriers.

Reason (R):  Withouta gender quota, women's representation will continue to remain marginal
causing a massive deficit in our democracy.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270164189. 1

878270164190. 2

878270164191. 3

878270164192. 4

Question Number : 138 Question Id : 87827041810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 31 e feu U E: 1 firmem (Assertion A) % &% ffga ¢ & o THh I (Reason R) F

wHE

e (A) :  HfeeTel 3 FelT S T e o RO VR ®9 Y F 39 ¢

T (R) : for st (e enenfea) ven o wfeenen a0 ofefafora afere w0 @ vem ford for oo el
31 o & 2|

T HYA % Seien H, A9 10 0 foRredl 9 T e I 99 FI

(1) (A) 4R (R) SF 58 & o (R), (A) 1 5 = §

(2) (A) 3 (R) S W61 %, A (R), (A) F1 7E oEn TG &

() (A) ol (R) 5E Tl

(4) (A) % T ¢ ol (R) TR

Options :



878270164189. 1
878270164190. 2
878270164191. 3

878270164192. 4

Question Number : 139 Question Id : 87827041811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : There is a political glass-ceiling present in India,

Reason (R): ~ 33% to 50% women's reservation at local self government under 73 and 74t
amendment act has failed to gain momentum in the assemblies and parliament.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270164193. 1

878270164194. 2

878270164195. 3

878270164196. 4

Question Number : 139 Question Id : 87827041811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Al 31 e fou U E: v Afirmem (Assertion A) % w1 ffga ¢ & T T4 (Reason R) E]

wA g

feRor (A) ;o wifefeel Tomg wifem i fufs fom )

T (R) : 73 3 T 74 o Wy GueR Suim o Siaid Yo W T v W 30% ¥ 50% Hieen
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(1) (A) 3 (R) 3 W& € &R (R), (A) 3 el = &

() (A) 3R (R) S W &, i (R), (A) F 96 o TG

() (A)E ol (R) T T

(4) (A) % T ¢ il (R) TR

Options :

878270164193. 1

878270164194. 2

878270164195. 3

878270164196. 4

Question Number : 140 Question Id : 87827041812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Gender roles stereotypes helps in better cooperation and functioning in the society.
Reason (R):  Gender division of labour is predominant in most societies.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270164197. 1



878270164198. 2
878270164199. 3

878270164200. 4

Question Number : 140 Question Id : 87827041812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
A4 € %o feu T 0 afvemem (Assertion A) FE i frfga g o S I (Reason R) F
U E
AR (A): ST (W) firrradt Heiel Tfeeg SROTG HAIE H Ao e T I Heer o
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(1) ()3 (R) S &1 & 3T (R), (A) 1§ €A ¢
(2) (A) ¥R (R) S 9 €, WA (R), (A) F 9K A T ¢
(3) (A) W& € oo (R) 5e Tl €
(&) (A)98 T & A (R) TR &
Options :
878270164197. 1
878270164198. 2
878270164199. 3
878270164200. 4
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Question Id : 87827041813 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

The time of gender-blind climate change policies and projects has passed. However, while research
is increasingly moving away from understanding the relationship between gender and climate change
in  linear, technocratic, and autocratic way, gender and climate change policymakers and project
practitioners are having difficulties operationalizing this progress. The state of the environment is of
global concern today. But the nature of environmental problems and their implications vary. In
developing countries, especially those with large rural populations, non-privatized natural resources
suchas fotests and village commons have a special importance, since these are critical sources of livelihood
and basic necessities for many people. All rural households depend on communal resources in various
ways, poor households with little or no private land are especially dependant. Within poor households,
women's dependence on these resources is especially high for several reasons. There is a gender division
of labour, it is women and female children who do much of the gathering and fetching of forest produce,
especially fuelwood and other nontimber products. Within the family, there is an unequal gender
distribution of basic resources controlled by men, including resources spent on healthcare, education
and in some regions, food. Women have much less access than men to private property resources,
especially land and assets.

Sub questions

Question Number : 141 Question Id : 87827041814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Climate change policies and projects have :

(I) To be gender blind

(2) To be linear and homogeneous

(3) To be controlled by developing countries

(4) To understand that environmental problem and their implication vary
Options :

878270164201. 1

878270164202. 2

878270164203. 3

878270164204. 4

Question Number : 142 Question Id : 87827041815 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In what ways are women dependent on nature ?

(A) Gathering and fetching forest produce

(B) Fuel wood and other non-timber products

(C) By managing drinking water

(D) By pollution and deforestation

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only
4) (A), (C€) and (D) Only
Options :

878270164205. 1
878270164206. 2
878270164207. 3

878270164208. 4

Question Number : 143 Question Id : 87827041816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : In times of environmental crisis, there is a need to envision new democratic ways
of living life.

Reason (R):  Policy makers and project practitioners must pose relevant question regarding
how their interventions may address climate justice

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270164209. 1

878270164210. 2

878270164211. 3

878270164212. 4

Question Number : 144 Question Id : 87827041817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  Climate change adaptation is dynamic, constantly evolving and interlinked with
may other socio political processes,

Statement (II) : There are no interlinkages between gender inequality and climate vulnerability.

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement II are true
2)  Both Statement I and Statement I are false
3)  Statement I is true but Statement II is false
4)  Statement I is false but Statement II is true

(
(
(

Options :

878270164213. 1



878270164214. 2
878270164215. 3

878270164216. 4

Question Number : 145 Question Id : 87827041818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

We can understand the relationship between gender and climate change :
(1) ina linear way

(2) in a technocratic way

(3) in an autocratic way

(4) in an intersectional way

Options :

878270164217. 1

878270164218. 2

878270164219. 3

878270164220. 4

Question Id : 87827041813 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Question Number : 141 Question Id : 87827041814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Question Number : 142 Question Id : 87827041815 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 87827041816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 87827041818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Id : 87827041819 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
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Algorithms and devices have the potential of spreading and reinforcing harmful gender sterectypes.
These gender biases risk further stigmatizing and marginalizing women on a global scale. Considering
the increasing ubiquity of Al in our societies, such biases put women at risk of being left behind in all
realms of economics, political and social life. They may even offset some of the considerable off-line
progress that countries have made towards gender equality in the recent past. Al also risks hurting
women's economic empowerment and labour market opportunities by leading to job automation. Recent
research by the [IMF and the institute for women's policy research found that women are at a significantly
higher risk of displacement due to job automation than men. Indeed, the majority of workers holding
jobs that face a high risk of automation, such as clerical, administrative, bookkeeping and cashier positions,
are women. [tis therefore crucial that women are not left behind in terms of retraining and reskilling
strategies to mitigate the impact of automation onjob losses. On the other hand, while Al poses significant
threats, to achieve gender equality, it is important to recognize that Al also has the potential to make
positive changes in our societies by challenging oppressive gender norms.  For example, while Al-
powered recruitment software was found to discriminate against women, Al-powered gender decoders
help employee use gender sensitive language to write job postings that are inclusive to increase the
diversity of their workplace.

Sub questions

Question Number : 146 Question Id : 87827041820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  Al's outputs are limits to the quality and quantity of its inputs, which are limited
by human decisions.

Statement (II) : Algorithms essentially work to recognize a pattern that exists in a data set and
then make decisions based on these patterns.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement 1 is false but Statement I is true
Options :

878270164221. 1

878270164222. 2

878270164223. 3



878270164224. 4

Question Number : 147 Question Id : 87827041821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct options :

(A) Al is neutral.

(B) Al appears neutral

(C) Al is a mirror of ourselves

(D) AI has no gender bias

Choose the correct answer from the options given below :
(1) (A), (B) Only

() (B), (C) Only

(3) (©), (D) Only

4) (C), (A) Only

Options :

878270164225. 1
878270164226. 2
878270164227.3

878270164228. 4

Question Number : 148 Question Id : 87827041822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct options :

(1) its upto people, not the machines to remove bias

(2) Al does not pose significant threats to gender equality
3) Al uses gender neutral language

(4) Al is robust and can function without human inputs

Options:

878270164229. 1



878270164230. 2
878270164231. 3

878270164232. 4

Question Number : 149 Question Id : 87827041823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true ?

(A) By increasing the number of women in service, technology, engineering and maths (STEM)
we can completely overcome the gendered biases engineering from Al technologies

(B)  Unless the culture itself changes and systemic reforms are implemented it is unclear how Al
will help to fix gender inequality

(C) Alis only replicating existing patterns

(D) Society can only rely on Al to fix its challenges and make existing inequalities disappear

Choose the correct answer from the options given below :

() (A),(B) Only

@ (B (0 Only
) (C) (D) Only
(4) (C), (A) Only
Options :

878270164233. 1
878270164234. 2
878270164235. 3

878270164236. 4

Question Number : 150 Question Id : 87827041824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



How is Al a risk to women's economic empowerment and labour market opportunities ?

(I) by leading to job automation

(2) by enhancing, retraining and reskilling strategies

(3) by leaving women's CVs being automatically selected because their profile fits that of people
who were hired before

(4) by making women adapt and acquire the necessary skills related to Al technologies

Options:

878270164237. 1
878270164238. 2
878270164239. 3
878270164240. 4

Question Id : 87827041819 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Question Number : 146 Question Id : 87827041820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 87827041821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 87827041822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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